
   

INSTRUCTIONS FOR DOWNLOADING AND SUBMITTING AN EXCEL® PRICE SCHEDULE ONLY 
WHEN RESPONDING TO A SWIFT EVENT 

STEP 
1 A Price Schedule in Excel® (.xls) is attached to the “Line Details” of the Event.  You must “download” and save the Excel Price Schedule to your 

desktop before you can begin filling in your offer and complete the Price Schedule.  You must “upload/attach” the completed Price Schedule where 
directed in the Line Details section of the Event.  

2 Responses will only be accepted on the Price Schedule included with the Event in Microsoft Excel® 97-2003 Workbook (.xls), or Microsoft Excel®2010 
Workbook (.xlsx).  The State reserves the right to reject any Price Schedule not submitted in .xls or .xlsx format.

3 When you have completed your entire response, you must 'upload/attach' the completed Price Schedule and select the 'I HAVE ATTACHED MY PRICE 
SCHEDULE' check box where directed in the Line Details section of the Event.  DO NOT SELECT 'I DECLINE TO BID ON THIS LINE'. Selecting this 
box may cause your response to be rejected. 

4 If you're having trouble submitting or attaching your Price Schedule, call the Help Desk at 651-201-8100 - Option No.1

SUBMIT PRICES USING THE PRICE SCHEDULE PROVIDED WITH THE EVENT
The Price Schedule must be returned in the Excel® format.

"DO NOT" SUBMIT EXCEL PRICE SCHEDULES AS PDF FILES.

The State reserves the right to reject responses if the Excel Price Sheets are submitted as PDF files 
or any other format not supported by SWIFT.



RESPONDER'S NAME: 

SWIFT EVENT NUMBER:  AFTERMARKET TRACTOR/SKIDSTEER ATTACHMENTS, T-632(5)
 
Following is a list of all distributors that are authorized to sell the equipment listed above.  All distributors will provide
the required insurance certificates to the State as outlined in the Swift Event Special Terms and Conditions before
any State Contract may be executed.  The SWIFT Vendor number must be complete and include the vendor location  
number and the vendor location number, i.e., 0000123456-001.

COMPANY SWIFT VENDOR COMPANY PHONE CONTACT 
NAME & LOCATION NO.  STREET ADDRESS STATE NUMBER NAME



T-632
SEQ. #416-220

EXHIBIT D
AFTERMARKET TRACTOR, COMPACT LOADER, 

WHEEL LOADER ATTACHMENTS
Discount Off List Pricing Info

Specification 3.0

February, 2020

Vendor Name:
Contact Person:
Street Address:
P.O. Box:
City, State, Zip
Phone #:
Toll Free #:
Email Address:

SPEC NUMBER INFORMATION REQUESTED ANSWER

8.1 MANUFACTURER: FAE

8.2 ATTACHMENT DESCRIPTION: All Products

8.3 PERCENT DISCOUNT (%) TO BE APPLIED TO LIST: 13%

8.4 DATE AND/OR I.D. OF PRICE LIST: 2020 Price List

8.5 STANDARD WARRANTY TERM  (Months/Years): 2 years

8.6 DELIVERY CHARGES:  (NO FLAT RATE ALLOWED)

8.6.1 DELIVERY STARTING POINT:                                                        (City) Flowery Branch
(State, Zip Code) GA, 30542

8.6.2      PRICE PER LOADED MILE:                                  $                         1.00 
8.6.3      MINIMUM DELIVERY CHARGE:  $                     250.00 

8.7 INSTALLATION SERVICES - $ PER HOUR (Shop Rate):  $                     132.50 
Installation services may be requested on an "as needed" basis.

952-445-5400
800-795-9274
952-445-0365

Titan Machinery Inc
Andy Bethel
644 East Beaton Drive

West Fargo, ND 58078



SWIFT EVENT TITLE:  AFTERMARKET TRACTOR/SKIDSTEER ATTACHMENTS, T-632(5) Event ID: G0210-2000010716

** Following is a list of all distributors that are authorized to sell the equipment listed above.  

** The Swift  Vendor Number (SWIFT ID) must be complete, including the vendor Swift ID and Location Code (LOC CODE).

** All distributors MUST provide the required insurance certificates to the State as outline in the Swift Event Special Terms and Conditions
   before any State Contract may be executed.
 

 COMPANY NAME SWIFT ID LOC CODE COMPANY ADDRESS CITY ST /ZIP PHONE CONTACT NAME
Titan Machinery Inc. 251892 10 500 Ingersoll Ave Crookston MN, 56716 218-281-4668 Mike Kolste  
Titan Machinery Inc. 251892 6 4001 38th Street SW Fargo ND, 54108 701-237-3333 Lee Menge
Titan Machinery Inc. 251892 19 4311 Haines Road Hermantown MN, 55811 218-727-3038 Ben Pias
Titan Machinery Inc. 251892 20 N 1626 Wuensch Road La Crosse WI, 54601 608-788-1025 Anthony Cook
Titan Machinery Inc. 251892 2 1201 North Hwy 59 Marshall MN, 56258 507-532-5783 Lucas Hilgemann
Titan Machinery Inc. 251892 17 14375 James Road Rogers MN, 55374 763-428-5099 Ben Pias
Titan Machinery Inc. 251892 18 6340 County Road 101 E Shakopee MN, 55379 952-445-5400 Ben Pias
Titan Machinery Inc. 251892 5 4400 W 62nd St North Sioux Falls SD, 57107 605-336-3434 Matt Leighton



FAE USA

2020
PRICE LIST 

FAE FULL LINE



004 –	 LAND CLEARING

PTO DRIVEN HEADS

FORESTRY MULCHERS
006  PaTriziO - NEW
008  UML/ST
010  FML/ST
012  UML/LOW
014 UML/DT
016 FML/DT
018 UML/S/DT 
020  UMM/DT
022  UMM/S - UMM/S/HP
024  UMH/S - UMH/S/HP 
026  UMH/MEGA

FORESTRY TILLERS
028  SCH - SCH/GT
030 SSL SPEED
032  SSL
034 SSM - SSM/HP
036 SSH - SSH/HP

MULTITASKS
038 SFL
040 SFM
042 SFH - SFH/HP

STONE CRUSHERS
044  STCL
046  STC
048 STCH - NEW
050 RSM

052 –	 HYDRAULIC DRIVEN HEADS
MULCHERS

FOR SKID STEERS
054  PMM/SSL 
056   DML/SSL - DML/SSL/VT 
058 UML/SSL/VT 
060 UML/SSL/VT/BL 
062 STC/SSL

118 –	 CONSTRUCTION

PTO DRIVEN HEADS

MULTITASK
120 RSL
122  MTL
124  MTM - MTM/HP
126 MTH - MTH/HP 

128 –	 STABILIZATION
128  SSH - SSH/HP
130  STABI/H

132 –	 CONSTRUCTION 
HYDRAULIC DRIVEN 
HEADS	

CRUSHERS
134  STC/SSL



LAND CLEARING 
PTO DRIVEN HEADS
Heads using the mechanical PTO

Our heads using mechanical PTO can easily be attached to a tractor and perfectly 
perform shredding and chopping work. Attachments must be selected based on 
application and vehicle power. 
Our tailored machines, produced from only the highest quality materials, last longer and 
deliver reliability second-to-none.

EFFICIENCY  
Quality results with any kind of soil while maintaining
the same speed and accuracy when operating.

DURABILITY
Robust and sturdy, the toughness of our Land Clearing
machines assure a long-term reliability guarantee.

SAFETY 
Manufacturing details make the difference 
in protection. Industry professionals rely on this 
when choosing a FAE machine.



OUR 
SUPERB PERFORMANCE 

WILL WIN YOU OVER

54



from 50 to 80 HP Ø 6 in max

FORESTRY MULCHERS

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH  BITE LIMITER 
ROTOR.

STANDARD EQUIPMENT

Hydraulic rear hood
Dual row protection chains
Transmission with belts
Gearbox with freewheel
PTO shaft with cam clutch
Bolted-on rotor shafts (in forged steel)
Welded steel counter-blades
Adjustable skids

OPTIONS

Frontal attachment
Multiple tooth options
Hydraulic top link
Mechanic push frame

IVT - CVT or creeper transmission strongly recommended

MODEL

Engine
(HP) PTO

(rpm)

Working 
width

(in)

Total width
(in)

Weight
(lbs)

Max shredding 
diameter

(in)

No. teeth 
E

min max

PaTriziO 150 50 80 540 58 68 1764 6 28

PaTriziO 175 50 80 540 68 78 1984 6 32

PaTriziO 200 50 80 540 77 87 2205 6 36

Blade E (standard) Blade E/HD (option)

NEW



76

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

PaTriziO
015001150-540  PATRIZIO-150 Universal forestry mulcher 540 rpm  20,000.00 

015001175-540  PATRIZIO-175 Universal forestry mulcher 540 rpm  21,300.00 

015001200-540  PATRIZIO-200 Universal forestry mulcher 540 rpm  24,200.00

Options

112800081-O  With blade type E/HD  22.41 

D150001503-O  Guard frame PATRIZIO-150  1,631.00 

D150001504-O  Guard frame PATRIZIO-175  1,716.00 

D150001505-O  Guard frame PATRIZIO-200  2,145.00 

111104000-O  Hydraulic top link 50 x 30 x 280 cat. 2  length 280 mm  659.00

Spare parts

112800098  Blade type E  49.00 

901214062  Hex socket head cap screw UNI 5932 M14 x 1,5 x 30 12.9 black  4.40 

846005715  Belt XPB Gates Quad Power l=1500  4 belts per unit     49.39

PTO drive shafts and yokes

100021001  PTO drive shaft W2400 K64 - 2200 Nm rif. 694810  standard PTO  - 

W133844-O  Yoke for W2400 1"3/8 Z21 ASGE  - 

 1" 3/8 Z6  standard yoke 



MODEL

Engine
(HP) PTO

(rpm)
Working width 

(in)
Total width

(in)
Weight

 (Ibs)

Max shredding
diameter

(in)

No. teeth type 
C/3 + C/3/SS

No. teeth type
I + C/3/SS

min max

UML/ST 125 50 110 540 or 1000 52 64 1852 8 26+2 36+2

UML/ST 150 60 110 540 or 1000 62 72 1984 8 32+2 42+2

UML/ST 175 70 110 540 or 1000 71 81 2138 8 36+2 50+2

UML/ST 200 80 110 540 or 1000 81 93 2293 8 42+2 58+2

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

UML/ST

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in XPB
Hydraulic rear hood
Welded steel counter-blades
Adjustable skids
Protection chains

OPTIONS

Possibility to choose Transmission 540 / 1000 rpm
Frontal attachment
Extended 3 point linkage
Hydraulic top link
Mechanical push frame
Special skids to go underground
Multiple tooth options

from 50 to 110 HP Ø 8 in max

FORESTRY MULCHERS

C/3/HD (option)C/3 (standard) Blade C/3 (option) K/3 (option) I (option) C/3/SS (side scraper)

IVT - CVT or creeper transmission strongly recommended



98

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UML/ST with standard “C/3” teeth
012137125  UML-ST-125 Universal forestry mulcher 1000 rpm  24,600.00 
012137125-540  UML-ST-125 Universal forestry mulcher 540 rpm  24,600.00 
012137150  UML-ST-150 Universal forestry mulcher 1000 rpm  25,600.00 
012137150-540  UML-ST-150 Universal forestry mulcher 540 rpm  25,600.00 
012137175  UML-ST-175 Universal forestry mulcher 1000 rpm  27,500.00 
012137175-540  UML-ST-175 Universal forestry mulcher 540 rpm  27,500.00 
012137200  UML-ST-200 Universal forestry mulcher 1000 rpm  29,400.00 
012137200-540  UML-ST-200 Universal forestry mulcher 540 rpm  29,400.00

Machine equipped
D121175452-O  With rotor UML/ST-125 Ø220 type I  1,454.00 
D121175453-O  With rotor UML/ST-150 Ø220 type I  1,586.00 
D121175454-O  With rotor UML/ST-175 Ø220 type I  2,201.00 
D121175455-O  With rotor UML/ST-200 Ø220 type I  2,510.00

Rotor equipped
112800071-O  With tooth-blade type C/3  to be multiplied for rotor teeth quantity  31.69 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000569-O  With tooth type K/3 screw L=80  to be multiplied for rotor teeth quantity  26.57

Options
111101125-O  Guard frame L-125  mechanical guard frame  1,267.00 
111101150-O  Guard frame L-150  mechanical guard frame  1,376.00 
111101175-O  Guard frame L-175  mechanical guard frame  1,455.00 
111101200-O  Guard frame L-200  mechanical guard frame  1,538.00 
111104000-O  Hydraulic top link 50 x 30 x 280 cat. 2  659.00 
112106000-O  Ground penetration skids for UML/S  skids to go underground  467.00 
100026012-O  Wide angle PTO drive shaft W2580 (surcharge)  for tractors with short 3 point linkage  921.00 
600000188-O  Front attachment kit UML/ST 540 rpm  to mount the mulcher on the front  468.00 
600000189-O  Front attachment kit UML/ST 1000 rpm  to mount the mulcher on the front  468.00

Spare Parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112800082-K  Tooth type I  Only used on type I rotor    87.90 
112800105-K  Tooth type K/3  Only used on type I rotor    128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
842159001  Belt XPB Gates Quad Power l=1590  5 belts per unit (4belts per uml 125)  52.15

Yokes
100026026  PTO drive shaft W2400 K64 - 2550 Nm  standard PTO UML ST 540rpm  - 
100021001  PTO drive shaft W2400 K64 - 2200 Nm rif. 694810  standard PTO UML ST 1000rpm  - 
W133844-O  Yoke for W2400 1"3/8 Z21 ASGE  - 

 1" 3/8 Z6  standard yoke 



MODEL

Engine
(HP) PTO

(rpm)
Working width 

(in)
Total width

(in)
Weight

 (Ibs)

Max shredding
diameter

(in)

No. teeth type 
FMM

min max

FML/ST 125 50 100 540 or 1000 52 64 1808 8 20

FML/ST 150 60 110 540 or 1000 62 72 1951 8 24

FML/ST 175 70 110 540 or 1000 71 81 2094 8 28

FML/ST 200 80 110 540 or 1000 81 93 2238 8 32

FORESTRY MULCHER FOR PTO TRACTORS WITH SWINGING HAMMER ROTOR.

FML/ST

STANDARD EQUIPMENT

PTO shaft
Gearbox with freewheel
Transmission with belts in XPB
Hydraulic rear hood
Welded steel counter-blades
Adjustable skids
Protection chains

OPTIONS

Possibility to choose Transmission 540 / 1000 rpm 
Frontal attachment 
Extended 3 point linkage
Hydraulic top link
Mechanical push frame

from 50 to 110 HP Ø 8 in max

FORESTRY MULCHERS

Hammer FMM (standard)

IVT - CVT or creeper transmission strongly recommended



1110

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

FML/ST
011125125  FML/ST-125 Forestry mulcher 1000 rpm  18,100.00 
011125125-540  FML/ST-125 Forestry mulcher 540 rpm  18,100.00 
011125150  FML/ST-150 Forestry mulcher 1000 rpm  19,200.00 
011125150-540  FML/ST-150 Forestry mulcher 540 rpm  19,200.00 
011125175  FML/ST-175 Forestry mulcher 1000 rpm  20,800.00 
011125175-540  FML/ST-175 Forestry mulcher 540 rpm  20,800.00 
011125200  FML/ST-200 Forestry mulcher 1000 rpm  22,200.00 
011125200-540  FML/ST-200 Forestry mulcher 540 rpm  22,200.00

Options
111101125-O  Guard frame L-125  mechanical guard frame  1,267.00 
111101150-O  Guard frame L-150  mechanical guard frame  1,376.00 
111101175-O  Guard frame L-175  mechanical guard frame  1,455.00 
111101200-O  Guard frame L-200  mechanical guard frame  1,538.00 
111104000-O  Hydraulic top link 50 x 30 x 280 cat. 2  659.00 
D121172590-O  Extended three point linkage kit for U-FML/DT  1,691.00 
600200326-O  Front attachment kit FML/ST 540 rpm  to mount the mulcher on the front  468.00 
600200327-O  Front attachment kit FML/ST 1000 rpm  to mount the mulcher on the front  468.00

Spare Parts
111220000  Hammer FMM  37.50 
111111125  Hammer retaining shaft Ø30 -125  141.00 
111111150  Hammer retaining shaft Ø30 -150  157.00 
111111175  Hammer retaining shaft Ø30 -175  171.00 
111111200  Hammer retaining shaft Ø30 -200  187.00 
940100100  Plug M TE BSPP 1" DIN 910  14.77 
842159001  Belt XPB Gates Quad Power l=1590  5 belts per unit (4belts per fml125)  52.15

Yokes
100026013  PTO drive shaft W2500 600956 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 



MODEL

Engine
(HP) PTO

(rpm)
Working 
width (in)

Total width
(in)

Weight
 (Ibs)

Max shredding
diameter (in)

No. teeth type 
C/3 + C/3/SS

No. teeth type 
I + C/3/SS

min max

UML/LOW 150 60 100 540 62 72 2050 8 32+2 42+2

UML/LOW 175 70 110 540 71 81 2337 8 36+2 50+2

UML/LOW 200 80 110 540 81 93 2623 8 42+2 58+2

UML/LOW

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in XPB
Hydraulic rear hood
Welded steel counter-blades
Adjustable skids
Reinforced heavy duty frame to increase axial loads
Protection chains

OPTIONS

Hydraulic top link
Mechanical push frame
Special skids to go underground
Multiple tooth options

from 60 to 110 HP Ø 8 in max 

Especially developed for tractors with low three
point hitch (e.g. crawler tractors).

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

FORESTRY MULCHERS

C/3/HD (option)C/3 (standard) Blade C/3 (option) K/3 (option) I (option) C/3/SS (side scraper)

IVT - CVT or creeper transmission strongly recommended



1312

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UML/LOW with standard “C/3” teeth
012131150  UML/ST-150 LOW Universal forestry mulcher 1000 rpm  for crawler tractors  25,600.00 
012131150-540  UML/ST-150 LOW Universal forestry mulcher 540 rpm  for crawler tractors  25,600.00 
012131175  UML/ST-175 LOW Universal forestry mulcher 1000 rpm  for crawler tractors  27,500.00 
012131175-540  UML/ST-175 LOW Universal forestry mulcher 540 rpm  for crawler tractors  27,500.00 
012131200  UML/ST-200 LOW Universal forestry mulcher 1000 rpm  for crawler tractors  29,400.00 
012131200-540  UML/ST-200 LOW Universal forestry mulcher 540 rpm  for crawler tractors  29,400.00

Machine equipped
D121175453-O  With rotor UML/ST-150 Ø220 type I  1,586.00 
D121175454-O  With rotor UML/ST-175 Ø220 type I  2,201.00 
D121175455-O  With rotor UML/ST-200 Ø220 type I  2,510.00

Rotor equipped
112800071-O  With tooth-blade type C/3  to be multiplied for rotor teeth quantity  31.69 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000569-O  With tooth type K/3 screw L=80  to be multiplied for rotor teeth quantity  26.57

Options
D111706773-O  Guard frame L/LOW-150  1,376.00 
D111706774-O  Guard frame L/LOW-175  1,455.00 
D111706775-O  Guard frame L/LOW-200  1,538.00 
111104000-O  Hydraulic top link 50 x 30 x 280 cat. 2  659.00 
600000225-O  Hydraulic top link 50 x 30 x 205 cat. 2  with shorter top link cylinder (44 cm)  658.00 
112106000-O  Ground penetration skids for UML/S  skids to go underground  467.00 
100026012-O  Wide angle PTO drive shaft W2580 (surcharge)  for tractors with short 3 point linkage  921.00

Spare Parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112800082-K  Tooth type I  Only used on type I rotor    87.90 
112800105-K  Tooth type K/3  Only used on type I rotor    128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
846005715  Belt XPB Gates Quad Power l=1500  5 belts per unit  49.39

Yoke
100026026  PTO drive shaft W2400 K64 - 2550 Nm  standard PTO  - 
W133844-O  Yoke for W2400 1"3/8 Z21 ASGE  - 

 1" 3/8 Z6  standard yoke 



UML/DT

MODEL

Engine
(HP) PTO

(rpm)
Working 
width (in)

Total width
(in)

Weight
 (lbs)

Max shredding
diameter (in)

No. teeth type 
C/3 + C/3/SS

No. teeth type 
I + C/3/SS

min max

UML/DT 200 80 130 1000 81 93 3307 9 42+2 58+2

UML/DT 225 90 130 1000 90 103 3527 9 46+2 66+2

from 80 to 130 HP Ø 9 in max

OPTIONS

Frontal attachment
Extended 3 point linkage
Hydraulic top link
Mechanical push frame
Hydraulic push frame
Special skids to go underground
Multiple tooth options

FORESTRY MULCHERS

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in XPB
Hydraulic rear hood
Welded steel counter-blades
Adjustable skids
Anti dust machine body
Protection chains

C/3/HD (option)C/3 (standard) Blade C/3 (option) K/3 (option) I (option) C/3/SS (side scraper)

IVT - CVT or creeper transmission strongly recommended



1514

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UML/DT with standard "C/3" teeth
012135200  UML/DT-200 Universal forestry mulcher  35,000.00 
012135225  UML/DT-225 Universal forestry mulcher  35,800.00

Machine equipped
D121175445-O  With rotor UML/DT-200 Ø220 type I  2,510.00 
D121175446-O  With rotor UML/DT-225 Ø220 type I  3,256.00

Rotor equipped
112800071-O  With tooth-blade type C/3  to be multiplied for rotor teeth quantity  31.69 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000569-O  With tooth type K/3 screw L=80  to be multiplied for rotor teeth quantity  26.57

Options
111116200-O  Guard frame PM/L-200  mechanical guard frame  1,940.00 
111116225-O  Guard frame PM/L-225  mechanical guard frame  2,038.00 
D121170875-O  Guard frame L/HY-200  hydraulic guard frame   4,067.00 
D121170876-O  Guard frame L/HY-225  hydraulic guard frame   4,276.00 
112106000-O  Ground penetration skids for UML/S  skids to go underground  467.00 
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  589.00 
100026012-O  Wide angle PTO drive shaft W2580 (surcharge)  for tractors with short 3 point linkage  921.00 
D121172590-O  Extended three point linkage kit for U-FML/DT  for tractors with short 3 point linkage  1,691.00 
D117125050-O  Plate with screws for protection chains 28 - 6 links  debris dumper  69.43

Spare Parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112800082-K  Tooth type I  Only used on type I rotor    87.90 
112800105-K  Tooth type K/3  Only used on type I rotor    128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
842159001  Belt XPB Gates Quad Power l=1590  8 belts per unit  52.15

Yoke
100021001  PTO drive shaft W2400 K64 - 2200 Nm rif. 694810  standard PTO  - 
W133844-O  Yoke for W2400 1"3/8 Z21 ASGE  - 

 1" 3/8 Z6  standard yoke 



FML/DT

MODEL

Engine
(HP) PTO

(rpm)
Working width 

(in)
Total width

(in)
Weight

 (Ibs)
Max shredding

diameter (in)
No. teeth type 

FMM
min max

FML/DT 200 80 130 1000 81 93 2965 9 32

FML/DT 225 90 130 1000 90 103 3219 9 36

from 80 to 130 HP Ø 9 in max

STANDARD EQUIPMENT

PTO shaft
Gearbox with freewheel
Transmission with belts in XPB
Hydraulic rear hood
Welded steel counter-blades
Adjustable skids
Anti dust machine body
Protection chains

OPTIONS

Frontal attachment
Extended 3 point linkage
Hydraulic top link
Mechanical push frame
Hydraulic push frame

FORESTRY MULCHERS

FORESTRY MULCHER FOR PTO TRACTORS WITH SWINGING HAMMER ROTOR.

Hammer FMM (standard)

IVT - CVT or creeper transmission strongly recommended



1716

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

FML /DT
011126200  FML/DT-200 Forestry mulcher  27,900.00 
011126225  FML/DT-225 Forestry mulcher  29,300.00

Options
111116200-O  Guard frame PM/L-200  mechanical guard frame  1,940.00 
111116225-O  Guard frame PM/L-225  mechanical guard frame  2,038.00 
D121170875-O  Guard frame L/HY-200  hydraulic guard frame   4,067.00 
D121170876-O  Guard frame L/HY-225  hydraulic guard frame   4,276.00 
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  589.00 
D121172590-O  Extended three point linkage kit for U-FML/DT  for tractors with short 3 point linkage  1,691.00

Spare Parts
111220000  Hammer FMM  37.50 
111111200  Hammer retaining shaft Ø30 -200  187.00 
111111225  Hammer retaining shaft Ø30 -225  201.00 
940100100  Plug M TE BSPP 1" DIN 910  14.77 
842159001  Belt XPB Gates Quad Power l=1590  8 belts per unit  52.15

Yoke
100026013  PTO drive shaft W2500 600956 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 



FORESTRY MULCHERS

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

UML/S/DT from 130 to 190 HP Ø 10 in max 

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Hydraulic hood
Enclosed machine body
Centralized greasing hub
Hydraulic hoses integrated in the frame
Cylinder protections, adjustable skids
Transmission with XPB belts
Interchangeable  bolted on spike  counter blade
Inner anti wear FCP plates
Bolted on protection chains

OPTIONS

Special skids to go underground 
Mechanical push frame
Hydraulic push frame
W style self aligning device
Z style self aligning device 
Extra ripper for push frame 
Interchangeable  bolted on counter blade
Hydraulic top link 
Multiple tooth options

MODEL

Engine
(HP) PTO

(rpm)
Working 
width (in)

Total width
(in)

Weight
 (lbs)

Max shredding
diameter (in)

No. teeth type
C/3 + C/3/SS

No. teeth type
I + C/3/SS

min max

UML/S/DT 200 130 190 1000 81 96 3756 10 42+2 60+2

UML/S/DT 225 130 190 1000 91 105 4056 10 48+2 66+2

C/3/HD (option)C/3 (standard) Blade C/3 (option) K/3 (option) I (option) C/3/SS (side scraper)

IVT - CVT or creeper transmission strongly recommended



1918

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UML/S/DT with standard “C/3” teeth
014301200  UML/S/DT-200 Universal forestry mulcher  45,700.00 
014301225  UML/S/DT-225 Universal forestry mulcher  46,900.00

Machine equipped
D143001545-O  With rotor UML/S/DT-200 type I HS  3,399.00 
D143001546-O  With rotor UML/S/DT-225 type I HS  3,655.00

Rotor equipped
112800071-O  With tooth-blade type C/3  to be multiplied for rotor teeth quantity  31.69 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000569-O  With tooth type K/3 screw L=80  to be multiplied for rotor teeth quantity  26.57

Options
D143001585-O  Guard frame L/S-200  mechanical guard frame  2,635.00 
D143001586-O  Guard frame L/S-225  mechanical guard frame  2,805.00 
D143001595-O  Guard frame L/S/HY-200  hydraulic guard frame   4,802.00 
D143001596-O  Guard frame L/S/HY-225  hydraulic guard frame   5,142.00 
600000426-O  Raker teeth type L - 3  set of 3 pcs./ for guard frame  650.00 
600000427-O  "Z" alignment kit + hydraulic top link for UML/S/DT  to enhance the movements  3,264.00 
600000428-O  "W" alignment kit for UML/S/DT  to enhance the movements  1,819.00 
600000209-O  Hydraulic top link 70 x 40 x 280 cat. 2 q.a.  to buy separately  1,890.00 
D143001570-O  Ground penetration skids for UML/S/DT  skids to go underground  778.00 
D117125050-O  Plate with screws for protection chains 28 - 6 links  debris dumper  69.43

Spare Parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112800082-K  Tooth type I  Only used on type I rotor    87.90 
112800105-K  Tooth type K/3  Only used on type I rotor    128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
842165002  Belt XPB Gates Quad Power l=1650  10 belts per unit  53.19

Yoke
100026035  PTO drive shaft W2500 K64 - 2700 Nm 606367 (without yoke)  standard PTO  - 

 1" 3/8 Z6  standard yoke 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  -

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.



FORESTRY MULCHERS

MODEL

Engine
(HP) PTO

(rpm)
Working 
width (in)

Total width
(in)

Weight
 (lbs)

Max shredding
diameter (in)

No. teeth type
C/3 + C/3/SS

No. teeth type
I + C/3/SS

min max

UMM/DT 200 160 240 1000 82 97 4800 12 42+2 58+2

UMM/DT 225 170 240 1000 91 107 5350 12 46+2 66+2

UMM/DT 250 180 240 1000 100 116 5500 12 52+2 74+2

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

UMM/DT  

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in WPB
Hydraulic rear hood
Forged and hardened interchangeable counter-blades
Interchangeable inner antiwear plates in Hardox®

Adjustable skids
Anti dust machine body
Centralized greasing hub
Hydraulic top link
Z style self ranging system of the PTO drive shaft/gearbox
Hydraulic hoses integrated in the frame
Cylinder protection
Double line protection chains

OPTIONS

Frontal attachment
Third row of interchangeable forged and hardened counter-blades
W style self aligning device between PTO drive shaft/gearbox
Mechanic push frame
Hydraulic push frame
Extra ripper for push frame
Special skids to go underground
Multiple tooth options

from 160 to 240 HP Ø  12 in max

C/3/HD (option)C/3 (standard) Blade C/3 (option) K/3 (option) I (option) C/3/SS (side scraper)

IVT - CVT or creeper transmission strongly recommended



2120

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UMM with standard “C/3” teeth
011511200  UMM/DT-200 Universal forestry mulcher  52,100.00 
011511225  UMM/DT-225 Universal forestry mulcher  54,200.00 
011511250  UMM/DT-250 Universal forestry mulcher  56,300.00

Machine equipped
D115073785-O  With rotor UMM/S/DT-200 Ø500 type I CT HS  4,259.00 
D115073786-O  With rotor UMM/S/DT-225 Ø500 type I CT HS  5,448.00 
D115073787-O  With rotor UMM/S/DT-250 Ø500 type I CT HS  5,626.00

Rotor equipped
112800071-O  With tooth-blade type C/3  to be multiplied for rotor teeth quantity  31.69 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000570-O  With tooth type K/3 screw L=90  to be multiplied for rotor teeth quantity  27.23

Options
D115072165-O  Guard frame M-200  mechanical guard frame  3,689.00 
D115072166-O  Guard frame M-225  mechanical guard frame  3,872.00 
D115072167-O  Guard frame M-250  mechanical guard frame  4,057.00 
D115072175-O  Guard frame M/HY-200  hydraulic guard frame   6,224.00 
D115072176-O  Guard frame M/HY-225  hydraulic guard frame   6,663.00 
D115072177-O  Guard frame M/HY-250  hydraulic guard frame   7,102.00 
600000301-O  Raker teeth type M - 3  set of 3 pcs./ for guard frame  797.00 
D115072225-O  Third line counter blade M-200  to achieve a finer product   404.00 
D115072226-O  Third line counter blade M-225  to achieve a finer product   460.00 
D115072227-O  Third line counter blade M-250  to achieve a finer product   514.00 
600000289-O  "W" alignment kit for UMM/DT  to improve PTO angle when lifting   1,558.00 
D115072130-O  Ground penetration skids for UMM/DT  skids to go underground  1,110.00 
D117125050-O  Plate with screws for protection chains 28 - 6 links  debris dumper  69.43

Spare parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112800082-K  Tooth type I  Only used on type I rotor    87.90 
112800105-K  Tooth type K/3  Only used on type I rotor    128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121174200  C/3 tooth fixing kit (screw l=130)  composed by screw, washer  & nut  10.00 
999999100  Screw C/3 M20 x 1,5 x 130 12.9 black  8.22 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
842165002  Belt XPB Gates Quad Power l=1650  10 belts per unit  53.19

Yokes
100021018  PTO drive shaft W2500 K64 - 2700 Nm 135349 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.



FORESTRY MULCHERS

MODEL

Engine
(HP) PTO

(rpm)
Working 
width (in)

Total width
(in)

Weight including
rotor (lbs) Max shredding

diameter
(in)

No. teeth type

min max type  C/3 type  B/3 B/3+C/3/SS C/3+C/3/SS

UMM/S 200 180 280 1000 81 98 6470 7150 14 72+2 44+2

UMM/S 225 190 280 1000 91 108 6750 7390 14 80+2 50+2

UMM/S 250 200 280 1000 100 117 7060 7750 14 92+2 56+2

UMM/S/HP 200 180 350 1000 81 98 6550 7200 14 72+2 44+2

UMM/S/HP 225 190 350 1000 91 108 7300 7880 14 80+2 50+2

UMM/S/HP 250 200 350 1000 100 117 7600 8515 14 92+2 56+2

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

UMM/S - UMM/S/HP from 180 to 350 HP Ø  14 in max

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in Poly -V L Kevlar
Hydraulic rear hood
Forged and hardened interchangeable counter-blades
Third row of interchangeable forged and hardened counter-blades
Inner anti wear clad plates FCP
Adjustable skids
Adjustable extended 3 point linkage
Anti dust machine body
Centralized greasing hub
Hydraulic top link
Z style self ranging system of the PTO drive shaft/gearbox

OPTIONS

W style self aligning device between PTO drive shaft/gearbox
Mechanical push frame
Hydraulic push frame
Extra ripper for push frame
Hydraulic clutch transmission (UMM/S/HP 225 and 250)
Special skids to go underground
Multiple tooth options

Hydraulic hoses integrated in the frame
Cylinder protection
Bigger transmission for tractors up to 450 HP
Bolted double line protection chains
Bolt-on chains' protection plates

B/3 (standard) B/3/HD (option) C/3/HD (option)C/3 (standard) C/3/SS (side scraper)

IVT - CVT or creeper transmission strongly recommended

K/3 (option)



2322

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

UMM/S/B
011746200-B  UMM/S-200 Universal forestry mulcher super rotor B 68,900.00 
011746225-B  UMM/S-225 Universal forestry mulcher super rotor B  75,000.00 
011746250-B  UMM/S-250 Universal forestry mulcher super rotor B  78,200.00

UMM/S/C
011746200-C  UMM/S-200 Universal forestry mulcher super rotor C 67,900.00 
011746225-C  UMM/S-225 Universal forestry mulcher super rotor C  73,900.00 
011746250-C  UMM/S-250 Universal forestry mulcher super rotor C  77,000.00

UMM/S/HP/B
011745200-B  UMM/S/HP-200 Universal forestry mulcher super rotor B 78,700.00 
011745225-B  UMM/S/HP-225 Universal forestry mulcher super rotor B  82,700.00 
011745250-B  UMM/S/HP-250 Universal forestry mulcher super rotor B  85,700.00

UMM/S/HP/C
011745200-C  UMM/S/HP-200 Universal forestry mulcher super rotor C 77,600.00 
011745225-C  UMM/S/HP-225 Universal forestry mulcher super rotor C  81,500.00 
011745250-C  UMM/S/HP-250 Universal forestry mulcher super rotor C  84,400.00

Rotor equipped
112800079-K  Tooth type B/3/HD  to be multiplied for rotor teeth quantity  132.50 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000570-O  With tooth type K/3 screw L=90  to be multiplied for rotor teeth quantity  27.23

Options
600000356-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. (surcharge)  length 280 mm - 3rd + 4th category 1,040.00 
D117128365-O  Guard frame M/S-200  mechanical guard frame  4,157.00 
D117128366-O  Guard frame M/S-225  mechanical guard frame  4,247.00 
D117128367-O  Guard frame M/S-250  mechanical guard frame  4,340.00 
D117130055-O  Guard frame M/S/HY-200  hydraulic guard frame   8,782.00 
D117130056-O  Guard frame M/S/HY-225  hydraulic guard frame   8,869.00 
D117130057-O  Guard frame M/S/HY-250  hydraulic guard frame   8,957.00 
600000301-O  Raker teeth type M - 3  set of 3 pcs./ for guard frame  797.00 
D117130255-O  Spike counter blades M/H for UMM/S-200  for finer output material  - 
D117130256-O  Spike counter blades M/H for UMM/S-225  for finer output material  - 
D117130257-O  Spike counter blades M/H for UMM/S-250  for finer output material  - 
D117128390-O  Ground penetration skids for UMM/S  skids to go underground  1,234.00 
D117128356-O  Hydraulic clutch transmission UMM/S/HP-225  13,090.00 
D117128357-O  Hydraulic clutch transmission UMM/S/HP-250  15,880.00 
600000300-O  "W" alignment kit for UMM/S  for UMM/S    1,558.00 
600000290-O  "W" alignment kit for UMM/S/HP  for UMM/S/HP  2,015.00 
D114125850-O  Plate with screws for protection chains 32 - 7 links debris dumper  102.00

Spare parts
112800065-K  Tooth type B/3 89.10 
112800079-K  Tooth type B/3/HD  132.50 
901224144  Hex socket head cap bolt UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800083-K  Tooth type K  128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121174200  C/3 tooth fixing kit (bolt l=130)  composed by bolt, washer  & nut  10.00 
999999100  Bolt C/3 M20 x 1,5 x 130 12.9 black  8.22 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
500000551  Chain flap section 32 - 7 links type M l=240  replaceable in single items  136.00 
500000554  Chain flap section 32 - 7 links type M l=300  replaceable in single items  145.00 
906516123  Hex head set bolt with knurled ring DIN 6921 M16 x 60 10.9 zn  2.73 
891000572  Belt SPB-6 Gates Predator PB l=2120  2 belts per unit  1,184.00

Yokes
100021107  PTO drive shaft W2600 K64 rif. 694171 (without yoke)  standard PTO  - 
W362423-O  Yoke for W2600 1"3/4 Z6 ASG  - 
W362421-O  Yoke for W2600 1"3/8 Z21 ASG  - 
W362419-O  Yoke for W2600 1"3/8 Z6 ASG  - 

 1" 3/4 Z20  standard yoke 

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.



FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

UMH/S - UMH/S/HP from 240 to 500 HP Ø  18 in max

MH (side scraper)

FORESTRY MULCHERS

A/3 (standard) A/3/HD (option) C/3/HD (option)C/3 (standard) C/3/SS (side scraper)

STANDARD EQUIPMENT

Hydraulic rear hood
Inner anti wear clad plates FCP (UMH/S)
Adjustable extended 3 point linkage
Enclosed machine body
Centralized greasing hub
Hydraulic hoses integrated in the frame
Cylinder protection
Bolted on protection chains
Transmission with belts (UMH/S)
Poly-Chain® belts transmission (UMH/S/HP)
Hydraulic clutch transmission (UMH/S/HP)
Gearbox with freewheel
Gearbox with oil cooling system (UMH/S/HP)
PTO shaft
Cam clutch on side PTO (UMH/S)
Bolted-on rotor shafts (in forged steel)
Hydraulic top link
Z style self ranging system of the PTO drive shaft/gearbox

Forged and hardened interchangeable  counter-blades (UMH/S)
Third row of interchangeable forged and hardened counter-blades 
(UMH/S)
Interchangeable bolted on spike PRO counter-blade (UMH/S/HP)
Adjustable skids / Supporting service leg

OPTIONS

Bolt-on chain’s protection plates
Hydraulic clutch transmission (UMH/S)
Multiple tooth options
W style self aligning device between PTO drive shaft/gearbox
Interchangeable bolted on spike counter-blade (UMH/S/HP)
Special skids to go underground
Mechanic push frame / Hydraulic push frame / Extra ripper for push 
frame

MODEL
Engine (HP) PTO

(rpm)
Working 
width (in)

Total 
width

(in)

Weight including
rotor (lbs)

Max 
shredding
diameter

(in)

No. teeth type

min max type  C/3 type  A/3 A/3 + MH C/3 + C/3/SS

UMH/S 225 240 400 1000 91 111 8900 9600 16 88+2 54+2

UMH/S 250 250 400 1000 101 120 9440 9925 16 96+2 60+2

UMH/S/HP 225 350 500 1000 91 109 9039 9722 18 88+2 54+2

UMH/S/HP 250 350 500 1000 101 118 9568 10053 18 96+2 60+2

IVT - CVT or creeper transmission strongly recommended

K/3 (option)



2524

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

UMH/S with rotor type A

011421225-A  UMH/S-225 Universal forestry mulcher super rotor A 98,300.00 
011421250-A  UMH/S-250 Universal forestry mulcher super rotor A  102,100.00

UMH/S with rotor type C

011421225-C  UMH/S-225 Universal forestry mulcher super rotor C 96,800.00 
011421250-C  UMH/S-250 Universal forestry mulcher super rotor C  100,600.00 

UMH/S/HP with rotor type A

011422225-A  UMH/S/HP-225 Universal forestry mulcher super rotor A  133,500.00 
011422250-A  UMH/S/HP-250 Universal forestry mulcher super rotor A  137,200.00 

UMH/S/HP with rotor type C

011422225-C  UMH/S/HP-225 Universal forestry mulcher super rotor C  131,900.00 
011422250-C  UMH/S/HP-250 Universal forestry mulcher super rotor C  135,500.00

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000570-O  With tooth type K/3 screw L=90  to be multiplied for rotor teeth quantity  27.23

Options
600000356-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. (surcharge)  length 280 mm - 3rd + 4th category  1,040.00 
891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 
400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP l=0,2m  adaptor   157.00 
D120021530-O  Lower point linkage kit 4th category  179.00 
D114125036-O  Guard frame H/S-225  mechanical guard frame   5,438.00 
D114125037-O  Guard frame H/S-250  mechanical guard frame   5,546.00 
D114125046-O  Guard frame H/S/HY-225  hydraulic guard frame   9,317.00 
D114125047-O  Guard frame H/S/HY-250  hydraulic guard frame   9,426.00 
600000302-O  Raker teeth type H - 3  set of 3 pcs./ for guard frame  1,174.00 
D114126026-O  Spike counter blades M/H for UMH/S-225  for finer output material  - 
D114126027-O  Spike counter blades M/H for UMH/S-250  for finer output material  - 
D114125056-O  Hydraulic clutch transmission UMH/S-225  Only for model UMH/S 225  13,470.00 
D114125057-O  Hydraulic clutch transmission UMH/S-250  Only for model UMH/S 250  13,090.00 
600000292-O  "W" alignment kit for UMH/S  For UMH/S  2,015.00 
600000524-O  "W" alignment kit for UMH/S/HP  For UMH/S/HP  3,630.00 
D114125850-O  Plate with screws for protection chains 32 - 7 links  debris dumper (8pc 225-10pc 250)  102.00 
D114125020-O  Ground penetration skids for UMH/S  skids to go underground  1,338.00 
D114126930-O  Ground penetration skids for UMH/S/HP  skids to go underground  1,296.00

Spare parts

112800075-K  Tooth type A/3  93.00 
112800078-K  Tooth type A/3/HD  136.50 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112700000-K  Side scraper tooth type M-H left  294.10 
112700001-K  Side scraper tooth type M-H right  294.10 
901216164  Hex socket head cap screw UNI 5932 M16 x 1,5 x 80 12.9 black  8.05 
901216244  Hex socket head cap screw UNI 5932 M16 x 1,5 x 120 12.9 black  9.48 
921616006  Schnorr anti vibration washer Ø16  0.93 
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800105-K  Tooth type K/3  128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121174200  C/3 tooth fixing kit (screw l=130)  composed by screw, washer  & nut  10.00 
999999100  Screw C/3 M20 x 1,5 x 130 12.9 black  8.22 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
500000551  Chain flap section 32 - 7 links type M l=240  replaceable in single items  136.00 
500000554  Chain flap section 32 - 7 links type M l=300  replaceable in single items  145.00 
906516123  Hex head set screw with knurled ring DIN 6921 M16 x 60 10.9 zn  2.73 
891000370  Belt XPC Gates Quad Power l=2500 kevlar  10 belts per unit for UMH/S  123.00 
843240202  Belt XPC Gates Quad Power l=2400  10 belts per unit for UMH/S/HP  162.00

PTO Shaft for UMH/S models
100026043  PTO drive shaft BYPY DSK 1"3/4 Z20 (gearbox 1"3/4 Z20)  standard PTO for UMH/S  - 
100026046-O  PTO drive shaft BYPY DSK 1"3/4 Z6  - 
100026001-O  PTO drive shaft Walterscheid P700 1"3/4 Z20  - 
100026002-O  PTO drive shaft Walterscheid P700 1"3/4 Z6  -

PTO Shaft for UMH/S/HP models
100026033  PTO drive shaft BYPY DSK 2"1/4 Z22  standard PTO   -

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.



UMH/MEGA

FORESTRY MULCHERS

STANDARD EQUIPMENT

PTO shaft
Gearbox with freewheel
Gearbox with oil cooling system
Transmission with belts in Poly-Chain® Carbon
Hydraulic rear hood
Forged and hardened interchangeable counter-blades

Third row of interchangeable forged and hardened 
counter-blades

Inner anti wear clad plates FCP
Adjustable skids
Adjustable extended 3 point linkage
Anti dust machine body
Centralized greasing hub
Hydraulic top link

from 350 to 500 HP Ø 20 in max D 10 in

OPTIONS

Hydraulically adjustable skids
W style self aligning device between PTO drive shaft/gearbox
Mechanical push frame
Hydraulic push frame
Multiple tooth options
Extra ripper for push frame

Z style self ranging system of the PTO drive shaft/gearbox
Hydraulic clutch transmission
Hydraulic hoses integrated in the frame
Cylinder protection
Inside lateral protection
Bolted double line protection chains

MODEL

Engine
(HP) PTO

(rpm)
Working width

(in)
Total width

(in)
 Weight

 (lbs)
Max shredding

diameter (in)
Max working 

depth (in)
No. teeth type

A/3 + MH  
min max

UMH/MEGA 225 350 500 1000 91 111 13160 20 10 96+2

UMH/MEGA 250 350 500 1000 101 120 13935 20 10 106+2

FORESTRY MULCHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

MH (side scraper)A/3 (standard) A/3/HD (option)

IVT - CVT or creeper transmission required



2726

P
R

IC
E

 L
IS

T

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.

Part number Part description Notes  Price $

UMH  MEGA
013900225-A  UMH/MEGA-225 Universal forestry mulcher mega rotor A  159,900.00 
013900250-A  UMH/MEGA-250 Universal forestry mulcher mega rotor A  164,900.00

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 

Options
D114125036-O  Guard frame H/S-225  mechanical guard frame   5,438.00 
D114125037-O  Guard frame H/S-250  mechanical guard frame   5,546.00 
D114125046-O  Guard frame H/S/HY-225  hydraulic guard frame   9,317.00 
D114125047-O  Guard frame H/S/HY-250  hydraulic guard frame   9,426.00 
600000302-O  Raker teeth type H - 3  set of 3 pcs./ for guard frame  1,174.00 
D139001640-O  Hydraulic skids UMH/MEGA  3,815.00 

891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 

400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP 
l=0,2m  adaptor   157.00 

600000294-O  "W" alignment kit for UMH/MEGA  2,746.00

Spare parts
112800075-K  Tooth type A/3  93.00 
112800078-K  Tooth type A/3/HD  136.50 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112700000-K  Side scraper tooth type M-H left  294.10 
112700001-K  Side scraper tooth type M-H right  294.10 
901216164  Hex socket head cap screw UNI 5932 M16 x 1,5 x 80 12.9 black  8.05 
901216244  Hex socket head cap screw UNI 5932 M16 x 1,5 x 120 12.9 black  9.48 
921616006  Schnorr anti vibration washer Ø16  0.93 
891000510  Belt Poly-chain 14M-90 carbon volt l=2520  2 belts per unit   1,952.00

PTO Shaft
100026033  PTO drive shaft BYPY DSK 2”1/4 Z22  standard PTO   -



STUMP CUTTER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

SCH - SCH/GT from 130 to 350 HP D 20 in

MODEL

Engine
(HP)) PTO 

(rpm)
Working width 

(in)
Total width

(in)
Weight

 (Ibs)

Max
working depth

(in)

No. teeth type
A/3 + MH

min max

SCH SS 45 ST 130 180 1000 20 71 4344 20 30+4

SCH SS 55 DT 160 280 1000 25 71 5931 20 34+4

SCH/GT 65 ST 140 200 1000 29 71 6173 20 28+4

SCH/GT 65 DT 180 300 1000 29 71 6394 20 28+4

SCH/GT 75 DT 200 350 1000 32 50 7056 20 34+4

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel

Transmission with belts (SCH SS 45 ST: in Poly-Chain® Carbon, 
SCH SS 55 DT: in XPC)

Transmission with side gearbox (SCH/GT 65 and SCH/GT 75)
Hydraulic side shifting (SCH/GT 75 DT excluded)
Welded steel counter-blades
Anti dust machine body

Inside lateral protections

Double line protection chains

OPTIONS

Hydraulic top link
Multiple tooth options

FORESTRY TILLERS

F/3 (option) MH (side scraper)A/3 (standard) A/3/HD (option)

IVT - CVT or creeper transmission required



2928

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SCH - SCH GT
011601045  SCH/SS/ST-45 Stump cutter  46,500.00 
011601055  SCH/SS/DT-55 Stump cutter  65,300.00 
011605065  SCH/GT/ST-65 Stump cutter  70,100.00 
011606065  SCH/GT/DT-65 Stump cutter  80,600.00 
011607075  SCH/GT/DT-75 Stump cutter  87,800.00

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 
112800094-O  With tooth type F/3  to be multiplied for rotor teeth quantity  91.72 

Options
112604000-O  Hydraulic top link 80 x 40 x 280 cat. 3 q.a.  only for SCH 45  1,625.00 
111304000-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a.  for all other SCH  1,972.00

Spare Parts
112800075-K  Tooth type A/3  93.00 
112800078-K  Tooth type A/3/HD  136.50 
112800094-K  Tooth type F/3  182.90 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112700000-K  Side scraper tooth type M-H left  294.10 
112700001-K  Side scraper tooth type M-H right  294.10 
901216164  Hex socket head cap screw UNI 5932 M16 x 1,5 x 80 12.9 black  8.05 
901216244  Hex socket head cap screw UNI 5932 M16 x 1,5 x 120 12.9 black  9.48 
921616006  Schnorr anti vibration washer Ø16  0.93 
891000108  Belt Poly-chain 14M-68 carbon volt l=2310  for SCH 45 - 1 belt per unit  3,885.00 
891000370  Belt XPC Gates Quad Power l=2500 kevlar  for SCH 55 - 10 belts per unit  123.00

Yoke for SCH 45
100021010  PTO drive shaft W2500 K64 - 2700 Nm 694166  standard PTO  - 

Yokes for SCH 55 - 65 - 75 models
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  standard PTO  - 
W362423-O  Yoke for W2600 1"3/4 Z6 ASG  - 
W362421-O  Yoke for W2600 1"3/8 Z21 ASG  - 
W362419-O  Yoke for W2600 1"3/8 Z6 ASG  - 

 1" 3/4 Z20  standard yoke 



FORESTRY TILLER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

SSL SPEED from 100 to 220 HP Ø 12 in max D 12 in

MODEL

Engine
(HP) PTO

(rpm)

Working 
width 

(in)

Total width
(in)

Weight
 (Ibs)

Max shredding
diameter

(in)

Max
working depth

(in)

No. teeth type
B/3 + C/3/SS 

min max

SSL Speed 150 100 160 1000 62 74 4410 12 12 44+4

SSL Speed 175 110 160 1000 72 83 4763 12 12 50+4

SSL/DT Speed 200 120 220 1000 81 93 5733 12 12 58+4

SSL/DT Speed 225 130 220 1000 91 102 6196 12 12 66+4

SSL/DT Speed 250 140 220 1000 100 112 6681 12 12 74+4

OPTIONS

Hydraulic top link
Hydraulic push frame
Hydraulic support roller
Multiple tooth options

STANDARD EQUIPMENT

Friction clutch on side PTO
PTO shaft with cam clutch
Gearbox with freewheel
Transmission with side gearbox
Hydraulic rear hood
Welded steel counter-blades
Adjustable counter-blade
Anti dust machine body
Inside lateral protections
Protection chains

FORESTRY TILLERS

G/3 (option)B/3 (standard) B/3/HD (option) C/3/SS (side scraper)

IVT - CVT or creeper transmission required



3130

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SSL SPEED
012603150  SSL/ST Speed 150 Forestry tiller  52,300.00 
012603175  SSL/ST Speed 175 Forestry tiller  57,200.00 
012602200  SSL/DT Speed 200 Forestry tiller  75,700.00 
012602225  SSL/DT Speed 225 Forestry tiller  79,400.00 
012602250  SSL/DT Speed 250 Forestry tiller  83,000.00

Rotor equipped
112800079-O  With tooth type B/3/HD  to be multiplied for rotor teeth quantity  49.28 
112800064-O  With tooth type G/3  to be multiplied for rotor teeth quantity  67.76 

Options
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  for SSL/ST-150 and -175  589.00 
112604000-O  Hydraulic top link 80 x 40 x 280 cat. 3 q.a.  for SSL/DT-200, -225 and -250  1,625.00 
112601150-O  Roller SSL-150 cpl  for depth adj. - without pushing frame  7,880.00 
112601175-O  Roller SSL-175 cpl  for depth adj. - without pushing frame  8,540.00 
112601200-O  Roller SSL-200 cpl  for depth adj. - without pushing frame  9,193.00 
112601225-O  Roller SSL-225 cpl  for depth adj. - without pushing frame  9,853.00 
112601250-O  Roller SSL-250 cpl  for depth adj. - without pushing frame  10,510.00 
D126001113-O  Guard frame for roller SSL-150  available only with roller  2,253.00 
D126001114-O  Guard frame for roller SSL-175  available only with roller  2,532.00 
D126001115-O  Guard frame for roller SSL-200  available only with roller  2,773.00 
D126001116-O  Guard frame for roller SSL-225  available only with roller  3,018.00 
D126001117-O  Guard frame for roller SSL-250  available only with roller  3,261.00 
100021107-O  PTO drive shaft W2600 K64 (without yoke)  only for DT models  857.00 
W362436-O  Yoke for W2600 1"3/4 Z20 ASG  - 
W362423-O  Yoke for W2600 1"3/4 Z6 ASG  - 
W362421-O  Yoke for W2600 1"3/8 Z21 ASG  - 
W362419-O  Yoke for W2600 1"3/8 Z6 ASG  -

Spare Parts
112800065-K  Tooth type B/3  89.10 
112800079-K  Tooth type B/3/HD  132.50 
112800064-K  Tooth type G/3  164.70 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
999999100  Screw C/3 M20 x 1,5 x 130 12.9 black  8.22 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36

Yokes
100021018  PTO drive shaft W2500 K64 - 2700 Nm 135349 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 



SSL

STANDARD EQUIPMENT

Friction clutch on side PTO
PTO shaft with cam clutch
Gearbox with freewheel
Transmission with side gearbox
Hydraulic rear hood
Flat pressed welded steel counter-blades
Anti dust machine body
Inside lateral protections
Protection chains

OPTIONS

Hydraulic top link
Hydraulic support roller
Multiple tooth options
Rotary hammers
Two disc front plows

from 100 to 220 HP Ø 12 in max D 12 in

MODEL

Engine
(HP) PTO

(rpm)
Working width 

(in)
Total width

(in)
Weight

 (Ibs)

Max shredding
diameter

(in)

Max
working depth

(in)

No. teeth type
B/3 + C/3/SS 

min max

SSL 150 100 160 1000 62 74 4586 12 12 54 + 4

SSL 175 110 160 1000 72 83 4983 12 12 66 + 4

SSL 200 120 220 1000 81 93 5777 12 12 74 + 4

SSL 225 130 220 1000 91 102 6196 12 12 82 + 4

SSL 250 140 220 1000 100 112 6593 12 12 96 + 4

FORESTRY TILLER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

FORESTRY TILLERS

C/3/SS (side scraper)G/3 (option)B/3 (standard) B/3/HD (option)

IVT - CVT or creeper transmission required



3332

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SSL
012601150  SSL/ST-150 Forestry tiller  48,400.00 
012601175  SSL/ST-175 Forestry tiller  53,300.00 
012600200  SSL/DT-200 Forestry tiller  69,800.00 
012600225  SSL/DT-225 Forestry tiller  73,500.00 
012600250  SSL/DT-250 Forestry tiller  77,100.00

Rotor equipped
112800079-O  With tooth type B/3/HD  to be multiplied for rotor teeth quantity  49.28 
112800064-O  With tooth type G/3  to be multiplied for rotor teeth quantity  67.76 

Options
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  for SSL/ST-150 and -175  589.00 
112604000-O  Hydraulic top link 80 x 40 x 280 cat. 3 q.a.  for SSL/DT-200, -225 and -250  1,625.00 
112601150-O  Roller SSL-150 cpl  for depth adjustment  7,880.00 
112601175-O  Roller SSL-175 cpl  for depth adjustment  8,540.00 
112601200-O  Roller SSL-200 cpl  for depth adjustment  9,193.00 
112601225-O  Roller SSL-225 cpl  for depth adjustment  9,853.00 
112601250-O  Roller SSL-250 cpl  for depth adjustment  10,510.00 
600000113-O  Front ploughshare discs  discs to allow the soil penetration  1,428.00 
100021107-O  PTO drive shaft W2600 K64 (without yoke)  857.00 
W362436-O  Yoke for W2600 1"3/4 Z20 ASG  - 
W362423-O  Yoke for W2600 1"3/4 Z6 ASG  - 
W362421-O  Yoke for W2600 1"3/8 Z21 ASG  - 
W362419-O  Yoke for W2600 1"3/8 Z6 ASG  -

Spare Parts
112800065-K  Tooth type B/3  89.10 
112800079-K  Tooth type B/3/HD  132.50 
112800064-K  Tooth type G/3  164.70 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
999999100  Screw C/3 M20 x 1,5 x 130 12.9 black  8.22 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36

Yokes
100021018  PTO drive shaft W2500 K64 - 2700 Nm 135349 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 



FORESTRY TILLER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

SSM - SSM/HP from 150 to 300 HP Ø 20 in max D 16 in

MODEL

Engine
(HP) PTO

(rpm)
Working width 

(in)
Total width

(in)
Weight

 (Ibs)

Max shredding
diameter

(in)

Max working 
depth

(in)

No. teeth type
A/3 + MH 

min max

SSM 200 150 250 1000 82 95 6813 20 16 76+4

SSM 225 170 250 1000 91 104 7365 20 16 88+4

SSM 250 190 250 1000 101 114 7916 20 16 102+4

SSM/HP 200 150 300 1000 82 95 6924 20 16 76+4

SSM/HP 225 170 300 1000 91 104 7475 20 16 88+4

SSM/HP 250 190 300 1000 101 114 8026 20 16 102+4

FORESTRY TILLERS

F/3 (option) MH (side scraper)A/3 (standard) A/3/HD (option)

IVT - CVT or creeper transmission required

STANDARD EQUIPMENT

Hydraulic rear hood
Enclosed machine body
Inside lateral protection
Protection chains
Transmission with side gearbox
Gearbox with freewheel
Friction clutches
PTO shaft with cam clutch
Bolted-on rotor shafts (in forged steel)
Hydraulic top link
Z style self ranging system of the PTO drive shaft/gearbox
Flat pressed welded steel counter-blades
Adjustable Hardox® counter-blade

OPTIONS

Bolted grid on rear hood
Multiple tooth options
W style self aligning device between PTO drive shaft/gearbox
Adjustable counter-blade (forest)
Adjustable skids
Dozing blade
Hydraulic support roller



3534

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SSM
012400200  SSM-200 Forestry tiller/Soil stabilizer  equipped with "Z" allignment + hy top link  99,800.00 
012400225  SSM-225 Forestry tiller/Soil stabilizer  equipped with "Z" allignment + hy top link  103,900.00 
012400250  SSM-250 Forestry tiller/Soil stabilizer  equipped with "Z" allignment + hy top link  108,100.00

SSM/HP
012402200  SSM/HP-200 Forestry tiller/Soil stabilizer  equipped with "Z" allignment + hy top link  102,200.00 
012402225  SSM/HP-225 Forestry tiller/Soil stabilizer  equipped with "Z" allignment + hy top link  106,300.00 
012402250  SSM/HP-250 Forestry tiller/Soil stabilizer  equipped with "Z" allignment + hy top link  110,500.00

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 
112800094-O  With tooth type F/3  to be multiplied for rotor teeth quantity  91.72

Options
112405200-O  Roller SSM-200 Ø355 cpl  for standard application  9,354.00 
112405225-O  Roller SSM-225 Ø355 cpl  for standard application  10,070.00 
112405250-O  Roller SSM-250 Ø355 cpl  for standard application  10,790.00 
D124002685-O  Roller SSM-200 Ø508 cpl  for very muddy soil  9,900.00 
D124002686-O  Roller SSM-225 Ø508 cpl  for very muddy soil  10,350.00 
D124002687-O  Roller SSM-250 Ø508 cpl  for very muddy soil  10,810.00 
312539200-O  Dozing blade SSH-200 cpl  in alternative to the roller #  2,213.00 
312539225-O  Dozing blade SSH-225 cpl  in alternative to the roller #  2,351.00 
312539250-O  Dozing blade SSH-250 cpl  in alternative to the roller #  2,483.00 
D124002655-O  Grid cpl for SSM-200  recommended to shred thin stumps  2,805.00 
D124002656-O  Grid cpl for SSM-225  recommended to shred thin stumps  3,162.00 
D124002657-O  Grid cpl for SSM-250  recommended to shred thin stumps  3,511.00 
D125011435-O  Forestry counter blade M/H-200  recommended to shred thin stumps  2,042.00 
D125011436-O  Forestry counter blade M/H-225  recommended to shred thin stumps  2,289.00 
D125011437-O  Forestry counter blade M/H-250  recommended to shred thin stumps  2,535.00 
600000342-O  "W" alignment kit for SSM  1,964.00 
600000343-O  "W" alignment kit for SSM/HP  1,964.00

Spare Parts
112800075-K  Tooth type A/3  93.00 
112800078-K  Tooth type A/3/HD  136.50 
112800094-K  Tooth type F/3  182.90 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112700000-K  Side scraper tooth type M-H left  294.10 
112700001-K  Side scraper tooth type M-H right  294.10 
901216164  Hex socket head cap screw UNI 5932 M16 x 1,5 x 80 12.9 black  8.05 
901216244  Hex socket head cap screw UNI 5932 M16 x 1,5 x 120 12.9 black  9.48 
921616006  Schnorr anti vibration washer Ø16  0.93

Yokes
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  standard PTO  - 
W362423-O  Yoke for W2600 1"3/4 Z6 ASG  - 
W362421-O  Yoke for W2600 1"3/8 Z21 ASG  - 
W362419-O  Yoke for W2600 1"3/8 Z6 ASG  - 

 1" 3/4 Z20  standard yoke 

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.
# EITHER DOZING BLADE OR ROLLER (NOT BOTH)



FORESTRY TILLER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

SSH - SSH/HP

FORESTRY TILLERS

from 160 to 500 HP Ø28 in max D 20 in

F/3 (option) MH (side scraper)A/3 (standard) A/3/HD (option)

STANDARD EQUIPMENT

Hydraulic rear hood
Interchangeable inner antiwear plates in Hardox®

Enclosed machine body
Inside lateral protection
Protection chains
Transmission with side gearbox
Side gearbox with oil cooling system (SSH/HP)
Gearbox with freewheel
Gearbox with oil cooling system (SSH/HP)
PTO shaft (SSH/HP)
Friction clutches
PTO shaft with cam clutch (SSH) 
Bolted-on rotor shafts (in forged steel)
Hydraulic top link (not for SSH 150-175 version)

OPTIONS

Bolted grid on rear hood
Stronger HP transmission for tractors up to 360-400 HP (SSH)
Multiple tooth options
W style self aligning device between PTO drive shaft/gearbox
Adjustable counter-blade (forest)
Adjustable skids / Dozing blade
Hydraulic support roller / Increased hydraulic roller

Z style self ranging system of the PTO drive shaft/gearbox (not for SSH 
150-175 version)
Adjustable Hardox® counter-blade

MODEL
Engine (HP) PTO

(rpm)

Working 
width 

(in)

Total 
width

(in)

 Weight
 (lbs)

Max 
shredding 

(in)

Max 
working 
depth

(in)

No. teeth type
A/3 + MH 

min max

SSH 150 160 280 1000 63 78 8135 28 20 58+4

SSH 175 180 280 1000 72 87 8642 28 20 66+4

SSH 200 200 400 1000 82 97 10648 28 20 78+4

SSH 225 220 400 1000 91 107 11464 28 20 88+4

SSH 250 240 400 1000 101 116 12280 28 20 98+4

SSH/HP 225 360 500 1000 91 107 11707 28 20 88+4

SSH/HP 250 360 500 1000 101 116 12522 28 20 98+4

IVT - CVT or creeper transmission required



3736

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

SSH
012500150  SSH-150 Forestry tiller/Soil stabilizer  102,000.00 

012500175  SSH-175 Forestry tiller/Soil stabilizer  110,000.00 

012504200  SSH-200 Forestry tiller/Soil stabilizer  119,500.00 

012504225  SSH-225 Forestry tiller/Soil stabilizer  123,000.00 

012504250  SSH-250 Forestry tiller/Soil stabilizer  126,600.00

SSH/HP
012503225  SSH/HP-225 Forestry tiller/Soil stabilizer  136,600.00 

012503250  SSH/HP-250 Forestry tiller/Soil stabilizer  139,800.00

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 

112800094-O  With tooth type F/3  to be multiplied for rotor teeth quantity  91.72

Options
111304000-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a.  Only for SSH 150 and 175  1,972.00 

600000356-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. (surcharge)  Only for SSH 200-225-250  1,040.00 

891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 

400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP l=0,2m  adaptor   157.00 

D125011763-O  Roller SSH-150 Ø508 cpl  in alternative to the dozing blade      #  9,001.00 

D125011764-O  Roller SSH-175 Ø508 cpl  in alternative to the dozing blade      #  9,455.00 

D125011965-O  Roller SSH-200 Ø508 cpl  in alternative to the dozing blade      #  10,890.00 

D125011966-O  Roller SSH-225 Ø508 cpl  in alternative to the dozing blade      #  11,140.00 

D125011967-O  Roller SSH-250 Ø508 cpl  in alternative to the dozing blade      #  11,390.00 

D125011975-O  Roller SSH-200 Ø508 large cpl  in alternative to the dozing blade      #  12,380.00 

D125011976-O  Roller SSH-225 Ø508 large cpl  in alternative to the dozing blade      #  12,630.00 

D125011977-O  Roller SSH-250 Ø508 large cpl  in alternative to the dozing blade      #  12,870.00 

312539150-O  Dozing blade SSH-150 cpl  in alternative to the roller #  1,969.00 

312539175-O  Dozing blade SSH-175 cpl  in alternative to the roller #  2,087.00 

312539200-O  Dozing blade SSH-200 cpl  in alternative to the roller #  2,213.00 

312539225-O  Dozing blade SSH-225 cpl  in alternative to the roller #  2,351.00 

312539250-O  Dozing blade SSH-250 cpl  in alternative to the roller #  2,483.00 

D125011433-O  Forestry counter blade M/H-150  recommended to shred thin stumps  1,533.00 

D125011434-O  Forestry counter blade M/H-175  recommended to shred thin stumps  1,779.00 

D125011955-O  Forestry counter blades SSH-200  recommended to shred thin stumps  2,079.00 

D125011956-O  Forestry counter blades SSH-225  recommended to shred thin stumps  2,327.00 

D125011957-O  Forestry counter blades SSH-250  recommended to shred thin stumps  2,574.00 

D125012155-O  Grid cpl for SSH-200  recommended to shred thin stumps  2,723.00 

D125012156-O  Grid cpl for SSH-225  recommended to shred thin stumps  3,069.00 

D125012157-O  Grid cpl for SSH-250  recommended to shred thin stumps  3,408.00 

D125013135-O  Anti clogging hood SSH-200  - 

D125013136-O  Anti clogging hood SSH-225  - 

D125013137-O  Anti clogging hood SSH-250  - 

D125013146-O  Anti clogging hood SSH/HP-225  - 

D125013147-O  Anti clogging hood SSH/HP-250  - 

D125011020-O  Stronger transmission 360-400 CV (with PTO drive shaft 1"3/4 Z20)  * P700 and two W2600 on the sides  3,645.00 

D125011040-O  Stronger transmission 360-400 CV (with PTO drive shaft 1"3/4 Z6)  * P700 and two W2600 on the sides  3,645.00 

D125012810-O  Skid extension SSH  1,386.00 

600000519-O  "W" alignment kit for SSH  1,980.00 

600000520-O  "W" alignment kit for SSH/HP  3,630.00

Spare Parts
112800075-K  Tooth type A/3  93.00 

112800078-K  Tooth type A/3/HD  136.50 

112800094-K  Tooth type F/3  182.90 

901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 

901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 

921616006  Schnorr anti vibration washer Ø16  0.93 

112700000-K  Side scraper tooth type M-H left  294.10 

112700001-K  Side scraper tooth type M-H right  294.10 

901216164  Hex socket head cap screw UNI 5932 M16 x 1,5 x 80 12.9 black  8.05 

901216244  Hex socket head cap screw UNI 5932 M16 x 1,5 x 120 12.9 black  9.48 

921616006  Schnorr anti vibration washer Ø16  0.93

PTO drive shafts for SSH/HP
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  standard PTO  - 

W195124-O  Yoke for W2600 1"3/4 Z6 AGCC with clamping cone  - 

W194005-O  Yoke for W2600 1"3/8 Z21 AGCC with clamping cone  - 

W195121-O  Yoke for W2600 1"3/8 Z6 AGCC with clamping cone  - 

 1" 3/4 Z20  standard yoke 

PTO drive shafts for SSH/HP	
100026033  PTO drive shaft BYPY DSK 2"1/4 Z22  standard PTO   -

* Only for SSH 200, 225 and 250
NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible. # EITHER DOZING BLADE OR ROLLER (NOT BOTH)



SFL from 120 to 160 HP Ø 6 in max D 6 in

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in Poly-Chain® Carbon
Hydraulic rear hood
Welded steel counter-blades
Adjustable Hardox® counter-blade 
Inner anti wear clad plates FCP
Anti dust machine body
Inside lateral protections
Double line protection chains

OPTIONS

Hydraulic top link
Mechanical push frame
Hydraulic push frame
Dozing blade
Grader blade (not compatible with roller)
Hydraulic controlled roller (not compatible with dozing blade)

MODEL

Engine
(HP) PTO

(rpm)

Working 
width 

(in)

Total width
(in)

Weight
 (Ibs)

Max shredding
diameter

(in)

Max
working depth

(in)

No. teeth type
STCL/3 + C/3/SS

min max

SFL 150 120 160 540 - 1000* 63 75 3200 6 6 30+4

SFL 175 120 160 540 - 1000* 72 85 3530 6 6 34+4

SFL 200 120 160 540 - 1000* 81 94 3860 6 6 40+4

*540 rpm for stone crushing – 1000 rpm for mulching

MULTITASKS

STONE CRUSHER, FORESTRY TILLER AND MULCHER FOR PTO TRACTORS
WITH FIXED TOOTH ROTOR.

C/3/SS (side scraper)STCL/3 (standard)

IVT - CVT or creeper transmission required



3938

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SFL
013300150  SFL-150 Universal mulcher and stone crusher  52,700.00 
013300175  SFL-175 Universal mulcher and stone crusher  54,500.00 
013300200  SFL-200 Universal mulcher and stone crusher  56,300.00

Options
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  589.00 
D133000623-O  Guard frame SFL-150  mechanical guard frame   2,597.00 
D133000624-O  Guard frame SFL-175  mechanical guard frame   2,651.00 
D133000625-O  Guard frame SFL-200  mechanical guard frame   2,711.00 
D133000483-O  Attachment for optional SFL-150  required for mounting following options  4,304.00 
D133000484-O  Attachment for optional SFL-175  required for mounting following options  4,375.00 
D133000485-O  Attachment for optional SFL-200  required for mounting following options  4,445.00 
D133000513-O  Guard frame SFL/HY-150  hydraulic guard frame   1,550.00 
D133000514-O  Guard frame SFL/HY-175  hydraulic guard frame   1,586.00 
D133000515-O  Guard frame SFL/HY-200  hydraulic guard frame   1,620.00 
D133000493-O  Road kit SFL-150  grader + penetration skids  7,221.00 
D133000494-O  Road kit SFL-175  grader + penetration skids  7,617.00 
D133000495-O  Road kit SFL-200  grader + penetration skids  8,021.00 
D133000503-O  Roller SFL-150 cpl  in alternative to the road kit  4,129.00 
D133000504-O  Roller SFL-175 cpl  in alternative to the road kit  4,787.00 
D133000505-O  Roller SFL-200 cpl  in alternative to the road kit  5,442.00 
D133000143-O  Dozing blade SFL-150 cpl  available with every optional  273.00 
D133000144-O  Dozing blade SFL-175 cpl  available with every optional  308.00 
D133000145-O  Dozing blade SFL-200 cpl  available with every optional  323.00

Spare Parts
112800063-K  Tooth STCL/3  150.60 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121174200  C/3 tooth fixing kit (screw l=130)  10.00 
999999100  Screw C/3 M20 x 1,5 x 130 12.9 black  8.22 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
891000448  Belt Poly-chain 14M-68 carbon volt l=1750  2 belts per unit  906.00

Yokes
100021010  PTO drive shaft W2500 K64 - 2700 Nm 694166  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 



SFM 

STONE CRUSHER, FORESTRY TILLER AND MULCHER FOR PTO TRACTORS 
WITH FIXED TOOTH ROTOR.

from 160 to 300 HP D 12 inØ10 in max  (rocks)
Ø12 in max  (trees)

Ø20 in max  (stump)

MULTITASKS

STC/3/FP (side scraper)F/3 (standard)

OPTIONS

Hydraulically adjustable skids
Bolted grid on rear hood
W style self aligning device between PTO drive shaft/gearbox
Hydraulic push frame
Hydraulic support roller (two different style, D.14 in - D. 21 in)
Bolt-on chains’ protection plates
High Speed Transmission for SFM
Rear dozing flap for SFM

STANDARD EQUIPMENT

Friction clutch on side pto
PTO shaft with cam clutch
Gearbox with freewheel
Transmission with side gearbox
Side gearbox with oil cooling system
Hydraulic rear hood
Forged and hardened interchangeable counter-blades
Adjustable hardox counter-blade
Inner anti wear clad plates FCP
Interchangeable inner antiwear plates in Hardox®
Adjustable extended 3 point linkage
Anti dust machine body
Hydraulic top link
Z style self ranging system of the PTO drive shaft/gearbox

Hydraulic hoses integrated in the frame
Cylinder protection
Inside lateral protection
Protection chains

MODEL

Engine
(HP) PDF 

(rpm)

Working 
width 

(in)

Total 
width

(in)

Weight
 (Ibs)

Max shredding
diameter (in)

Max
working 
depth

(in)

No. teeth type 
F/3 + STC/3/FP

min max Rocks Trees Stump

SFM 200 160 300 1000 81 94 8267 10 12 20 12 50+6

SFM 225 170 300 1000 90 103 8928 10 12 20 12 58+6

SFM 250 180 300 1000 100 112 9590 10 12 20 12 62+6

IVT - CVT or creeper transmission required



4140

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SFM
013600200  SFM-200 Universal mulcher and stone crusher  104,800.00 
013600225  SFM-225 Universal mulcher and stone crusher  109,100.00 
013600250  SFM-250 Universal mulcher and stone crusher  113,500.00

Options
D136003735-O  Guard frame SFM/HY-200  hydraulic guard frame   8,745.00 
D136003736-O  Guard frame SFM/HY-225  hydraulic guard frame   8,838.00 
D136003737-O  Guard frame SFM/HY-250  hydraulic guard frame   8,923.00 
D136003785-O  Grid cpl for SFM-200  bolted under the hood-for finer mulching  2,805.00 
D136003786-O  Grid cpl for SFM-225  bolted under the hood-for finer mulching  3,162.00 
D136003787-O  Grid cpl for SFM-250  bolted under the hood-for finer mulching  3,511.00 
D136004445-O  Rear dozing flap for SFM-200  for a better output material dozing  2,465.00 
D136004446-O  Rear dozing flap for SFM-225  for a better output material dozing  2,635.00 
D136004447-O  Rear dozing flap for SFM-250  for a better output material dozing  2,805.00 
D136003765-O  Roller SFM-200 Ø355 cpl  for standard application  8,414.00 
D136003766-O  Roller SFM-225 Ø355 cpl  for standard application  8,838.00 
D136003767-O  Roller SFM-250 Ø355 cpl  for standard application  9,331.00 
D136003895-O  Roller SFM-200 Ø508 cpl  for very muddy soil  10,610.00 
D136003896-O  Roller SFM-225 Ø508 cpl  for very muddy soil  11,060.00 
D136003897-O  Roller SFM-250 Ø508 cpl  for very muddy soil  11,550.00 
D136003725-O  Hydraulic road skids SFM-200  not available with other options  8,362.00 
D136003726-O  Hydraulic road skids SFM-225  not available with other options  8,362.00 
D136003727-O  Hydraulic road skids SFM-250  not available with other options  8,362.00 
D114125850-O  Plate with screws for protection chains 32 - 7 links  8pc (200-225) - 10pc (250)  102.00 
600000463-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a. (surcharge)  450.00 

400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP  
 l=0,2m  adaptor   157.00 

600000468-O  High Speed Transmission for SFM  recommended for mulching use  - 
600000450-O  "W" alignment kit for SFM  to enhance the movements  1,964.00

Spare Parts
112800094-K  Tooth type F/3  182.90 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112800066-K  Tooth STC/3/FP  332.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96

Yokes
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  - 
W195124-O  Yoke for W2600 1"3/4 Z6 AGCC with clamping cone  - 
W195121-O  Yoke for W2600 1"3/8 Z6 AGCC with clamping cone  - 
W194005-O  Yoke for W2600 1"3/8 Z21 AGCC with clamping cone  - 

 1" 3/4 Z20  standard yoke 

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.



SFH - SFH/HP from 300 to 500 HP Ø12 in max  (rocks)
Ø18 in max (trees)

Ø22 in max  (stump)

D 16 in

MULTITASKS

STONE CRUSHER, FORESTRY TILLER AND MULCHER FOR PTO TRACTORS 
WITH FIXED TOOTH ROTOR.

STANDARD EQUIPMENT

PTO shaft
Friction clutch on side PTO
Gearbox with freewheel
Gearbox with oil cooling system (SFH/HP)
Transmission with side gearbox
Side gearbox with oil cooling system
Hydraulic rear hood
Forged and hardened interchangeable counter-blades
Third row of interchangeable forged and hardened counter-blades
Adjustable Hardox® counter-blade
Inner anti wear clad plates FCP
Adjustable extended 3 point linkage
Anti dust machine body
Centralized greasing hub

Hydraulic top link
Z style self ranging system of the PTO drive shaft/gearbox
Hydraulic hoses integrated in the frame
Cylinder protection
Inside lateral protection
Bolted protection chains

MODEL

Engine
(HP) PTO

(rpm)

Working 
width 

(in)

Total width
(in)

Weight
 (Ibs)

Max shredding
diameter (in)

Max 
working 
depth

(in)

No. teeth type 
G/3 + STC/FP

min max Rocks Trees Stump

SFH 225 300 400 1000 91 107 13690 12 18 22 16 62+8

SFH 250 300 400 1000 101 116 14330 12 18 22 16 68+8

SFH/HP 225 360 500 1000 91 107 13800 12 18 22 16 62+8

SFH/HP 250 360 500 1000 101 116 14440 12 18 22 16 68+8

G/3 (standard) STC/FP (side scraper)

OPTIONS

Hydraulically adjustable skids
Bolted grid on rear hood
W style self aligning device between PTO drive shaft/gearbox
Hydraulic support roller
High Speed Transmission for SFH.

IVT - CVT or creeper transmission required



4342

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

SFH
014200225  SFH-225 Universal mulcher and stone crusher  139,300.00 
014200250  SFH-250 Universal mulcher and stone crusher  141,900.00

SFH/HP
014201225  SFH/HP-225 Universal mulcher and stone crusher  144,500.00 
014201250  SFH/HP-250 Universal mulcher and stone crusher  147,900.00

Options
D142001856-O  Roller SFH-225 Ø508 cpl  for depth adjustment  11,460.00 
D142001857-O  Roller SFH-250 Ø508 cpl  for depth adjustment  11,870.00 
D142000736-O  Grid cpl for SFH-225  bolted under the hood-for finer mulching  3,174.00 
D142000737-O  Grid cpl for SFH-250  bolted under the hood-for finer mulching  3,520.00 
D142000456-O  Hydraulic road skids SFH-225  material retaining side skids  9,857.00 
D142000457-O  Hydraulic road skids SFH-250  material retaining side skids  9,857.00 
600000488-O  High Speed Transmission for SFH  recommended for mulching use  - 
600000517-O  High Speed Transmission for SFH/HP  recommended for mulching use  - 
600000351-O  "W" alignment kit for SFH  Improve PTO angle when adjusting   1,969.00 
600000371-O  "W" alignment kit for SFH/HP  Improve PTO angle when adjusting   1,969.00 
600000356-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. (surcharge)  length 280 mm - 3rd + 4th category  1,040.00 
891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 

400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP 
l=0,2m  adaptor   157.00

Spare parts
112800064-K  Tooth type G/3  164.70 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800015-K  Tooth STC/FP 1 screw  320.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
D140000960  Chain flap section 32 - 9 links l=250  143.00 
900716103  Hex head set screw UNI 5739 M16 x 50 10.9 zn  1.95 
920116001  Flat washer UNI 6592 Ø16 zn  0.61 
920716006  Spring washer UNI 9195 Ø16 zn  0.81 
910616001  Nylock lock nut UNI 7473 M16 10 zn  1.23

PTO drive shafts for SFH
100026001  PTO drive shaft Walterscheid P700 1"3/4 Z20 606556  standard PTO  - 
100026002-O  PTO drive shaft Walterscheid P700 1"3/4 Z6  -

PTO drive shafts for SFH/HP
100026033  PTO drive shaft BYPY DSK 2"1/4 Z22  standard PTO   -

NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible.



STONE CRUSHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

from 80 to 150 HP Ø 6 in max (stones) D 6 inSTCL

MODEL

Engine
(HP) PTO

(rpm)

Working 
width 

(in)

Total width
(in)

Weight
 (Ibs)

Max shredding
diameter

(in)

Max
working depth

(in)

No. teeth type
STCL/3 + C/3/SS

min max

STCL 100 80 120* 540 o 1000 44 56 2712 6 6 20+4

STCL 125 80 120* 540 o 1000 53 65 2822 6 6 26+4

STCL 150 90 120* 540 o 1000 63 75 3175 6 6 32+4

STCL 175 100 120* 540 o 1000 72 84 3462 6 6 38+4

STCL/DT 175 100 150 1000 72 84 3528 6 6 38+4

STCL/DT 200 120 150 1000 81 94 3858 6 6 42+4

*For 540 rpm tractors, max. power 100 HP.

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts Poly-Chain® Carbon
Hydraulic rear hood
Flat pressed welded steel counter-blades
Adjustable Hardox® counter-blade
Penetration skids
Anti dust machine body
Inside lateral protection
Double line protection chains

OPTIONS

Possibility to choose Transmission 540/1000 rpm 
Choice between 540 and 1000 rpm transmission (STC 125)
Adjustable extended 3 point linkage (STCL/ST)
Hydraulic top link
Dozing blade
Grader blade

STONE CRUSHER

C/3/SS (side scraper)STCL/3 (standard)

IVT - CVT or creeper transmission required



P
R

IC
E

 L
IS

T

45

Part number Part description Notes  Price $

STCL
012205100-540  STCL/ST-100 Stone crusher 540 rpm  43,600.00 
012205100  STCL/ST-100 Stone crusher  43,600.00 
012205125-540  STCL/ST-125 Stone crusher 540 rpm  44,200.00 
012205125  STCL/ST-125 Stone crusher  44,200.00 
012205150-540  STCL/ST-150 Stone crusher 540 rpm  44,800.00 
012205150  STCL/ST-150 Stone crusher  44,800.00 
012205175-540  STCL/ST-175 Stone crusher 540 rpm  49,300.00 
012205175  STCL/ST-175 Stone crusher  49,300.00 
012207175  STCL/DT-175 Stone crusher  51,100.00 
012207200  STCL/DT-200 Stone crusher  52,700.00

Options
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  589.00 
D122002461-O  Rear dozing flap for STCL-100  838.00 
D122002462-O  Rear dozing flap for STCL-125  919.00 
D122002463-O  Rear dozing flap for STCL-150  968.00 
D122002464-O  Rear dozing flap for STCL-175  1,019.00 
D122002465-O  Rear dozing flap for STCL-200  1,072.00 
600000127-O  PTO lifting kit for STCL  Rec. for high PTO tractors (100-125-150)  - 
600000128-O  PTO lowering kit for STCL  Rec. for low PTO tractors (175-200)  - 
600000129-O  Longer attachment kit for STCL  For tractors with short 3 point linkage  330.00

Spare Parts
112800063-K  Tooth STCL/3  150.60 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
891000447  Belt Poly-chain 14M-68 carbon volt l=1568  1 belt per unit  862.00 
891000448  Belt Poly-chain 14M-68 carbon volt l=1750  2 belts per unit - for DT version  906.00

Yoke for 540 RPM machines (W2400)
100021001  PTO drive shaft W2400 K64 - 2200 Nm rif. 694810  standard PTO  - 

 1" 3/8 Z6  standard yoke 
W133844-O  Yoke for W2400 1"3/8 Z21 ASGE  -

Yokes for 1000 RPM machines (W2500)
100021018  PTO drive shaft W2500 K64 - 2700 Nm 135349 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 

42



STONE CRUSHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

STANDARD EQUIPMENT

PTO shaft with cam clutch
Gearbox with freewheel
Transmission with belts in Poly-V L
Hydraulic rear hood
Flat pressed welded steel counter-blades
Adjustable Hardox® counter-blade
Adjustable skids
Penetration skids
Anti dust machine body (STC/DT)
Inside lateral protection
Double line protection chains

OPTIONS

Choice between 540 and 1000 rpm transmission (STCL 125)
Hydraulic top link
Dozing blade
Grader blade (STC/DT)
Multiple tooth options

from 80 to 220 HP Ø 12 in max (stones) D 8 inSTC

MODEL

Engine
(HP) PTO

(rpm)

Working 
width 

(in)

Total width
(in)

Weight
 (Ibs)

Max shredding
diameter

(in)

Max
working depth

(in)

No. teeth type
STC/3 + STC/3/HD

min max

STC 125 80 110 540 o 1000 53 69 4079 12 8 26+4

STC/DT 150 100 220 1000 62 79 5402 12 8 32+4

STC/DT 175 120 220 1000 72 89 5931 12 8 38+4

STC/DT 200 130 220 1000 81 98 6240 12 8 42+4

STONE CRUSHER

STC/3 (standard) STC/3/HD (option) STC/3/FP (option) STC/3/HD (side scraper)

IVT - CVT or creeper transmission required



47

P
R

IC
E

 L
IS

T

46

Part number Part description Notes  Price $

STC
012200125  STC/ST-125 Stone Crusher  44,800.00 
012204150  STC/DT-150 Stone Crusher  67,800.00 
012204175  STC/DT-175 Stone Crusher  69,500.00 
012204200  STC/DT-200 Stone Crusher  74,000.00

Rotor equipped
112800061-O  With tooth STC/3/HD  to be multiplied for rotor teeth quantity  92.07 
112800066-O  With tooth type STC/3/FP  to be multiplied for rotor teeth quantity  203.00

Options
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  for STC-125  589.00 
111709000-O  Hydraulic top link 80 x 40 x 280 cat. 3 q.a.  for STC-150, -175 and -200  1,559.00 
993122313-125-O  Dozing blade STC-125 cpl  592.00 
993122313-150-O  Dozing blade STC-150 cpl  688.00 
993122313-175-O  Dozing blade STC-175 cpl  770.00 
993122313-200-O  Dozing blade STC-200 cpl  837.00 
D122002473-O  Plug & Play dozing and grader blades kit for STC-150  17,030.00 
D122002474-O  Plug & Play dozing and grader blades kit for STC-175  17,730.00 
D122002475-O  Plug & Play dozing and grader blades kit for STC-200  18,430.00

Spare Parts
112800062-K  Tooth STC/3  219.20 
112800061-K  Tooth STC/3/HD  259.70 
112800066-K  Tooth STC/3/FP  332.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
D122000870  Front penetration plough STC skid right  1,172.00 
D122001020  Front penetration plough STC skid left  1,172.00 
D122000900  Skid wearing plate STC universal  541.00 
848184113  Belt Poly-V L13-725 kevlar l=1842  for STC 125 - 2 belts per unit  254.00 
848194313  Belt Poly-V L13-765 kevlar l=1943  for STC 150, 175, 200 - 4 belts   252.00

PTO drive shafts and yokes
100021018  PTO drive shaft W2500 K64 - 2700 Nm 135349 (without yoke)  standard PTO  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 

 1" 3/8 Z6  standard yoke 



STONE CRUSHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

STCH 

STONE CRUSHER

from 280 to 400 HP Ø 20 in max (stones) D 10 in

STC/3 (standard) STC/3/HD (option) STC/3/FP (option) STC/3/HD (side scraper)

IVT - CVT or creeper transmission required

MODEL

Tractor
(HP) PTO

(rpm)

Working 
width

(in)

Total width
(in)

Weight
(lbs)

Max shredding 
diameter

(in)

Maximum 
working depth 

(in)

Teeth type no.

min max STC/3 STC/3/HD

STCH 225 280 400 1000 91 110 11222 20 10 56 + 4 + 4

STCH 250 280 400 1000 101 120 11667 20 10 64+ 4 + 4

STANDARD EQUIPMENT

Hydraulic rear hood
Interchangeable inner antiwear plates in Hardox®

Enclosed machine body
Centralized greasing hub
Inside lateral protection
Bolted on protection chains
Transmission with belts
Gearbox with freewheel
PTO shaft
Cam clutch on side PTO
Bolted-on rotor shafts (in forged steel)

OPTIONS

Multiple tooth options
Hydraulic top link
Dozing blade
Grader blade (road kit)
Dozing blades with spring system

Adjustable hydraulic Hardox® counter-blade
Adjustable skids
Penetration skids

NEW



4948

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price € 

STCH
012309225  STCH-225 Stone crusher (new)  112,900.00 

012309250  STCH-250 Stone crusher (new)  117,700.00

Rotor equipped
112800061-O  With tooth STC/3/HD  to be multiplied for rotor teeth quantity  92.07 

112800066-O  With tooth type STC/3/FP  to be multiplied for rotor teeth quantity  203.00

Options
111304000-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a.  length 280 mm - 3rd + 4th category  1,972.00 

112305000-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a.  length 280 mm - 3rd + 4th category  3,116.00 

891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 

112224225-O  Dozing blade STCH-225 cpl  1,440.00 

112224250-O  Dozing blade STCH-250 cpl  1,607.00 

D123040926-O  Rear dozing flap for STCH-225  6,229.00 

D123040927-O  Rear dozing flap for STCH-250  6,353.00

Spare parts
112800062-K  Tooth STC/3  219.20 

112800061-K  Tooth STC/3/HD  259.70 

112800066-K  Tooth STC/3/FP  332.40 

901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 

921624006  Schnorr anti vibration washer Ø24  1.96 

D122000870  Front penetration plough STC skid right  1,172.00 

D122001020  Front penetration plough STC skid left  1,172.00 

D123000450  Skid wearing plate STCH universal  624.00 

891000566  Belt SPCP Gates Predator l=2500  12 belts per unit  248.00

Yokes for STCH
100026043  PTO drive shaft BYPY DSK 1"3/4 Z20 (gearbox 1"3/4 Z20)  standard PTO  - 

100026046-O  PTO drive shaft BYPY DSK 1"3/4 Z6  - 

100026001-O  PTO drive shaft Walterscheid P700 1"3/4 Z20  - 

100026002-O  PTO drive shaft Walterscheid P700 1"3/4 Z6  -



RSM

STONE CRUSHER

STONE CRUSHER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

from 180 to 360 HP Ø 20 in max (stones) D 15 in

STANDARD EQUIPMENT

Cam clutch on side PTO
PTO shaft with cam clutch
Gearbox with freewheel
Transmission with side gearbox
Hydraulic rear hood
Adjustable Hardox® counter-blade
Interchangeable steel counter-blades in Hardox®

Interchangeable inner antiwear plates in Hardox®

Anti dust machine body
Inside lateral protection
Protection chains

OPTIONS

PTO shaft
Bolted grid on rear hood
Hydraulic top link
Dozing blade
Hydraulic support roller
Multiple tooth options 
Stronger transmission for tractors up to 360HP

MODEL

Engine
(HP) PTO

(rpm)

Working 
width 

(in)

Total 
width

(in)

Weight
 (Ibs)

Max shredding
diameter

(in)

Max
working 
depth

(in)

No. teeth type

min max
G/3+STC/3/FP

+STC/FP

R+R/HD+
STC/3/FP
+ STC/FP

RSM 175 180 360 1000 72 89 11778 20 15 82+4+4 106+20+4+4

RSM 200 200 360 1000 82 98 12667 20 15 94+4+4 126+20+4+4

RSM 225 220 360 1000 91 108 13556 20 15 106+4+4 144+20+4+4

STC/3/FP (side scraper)R 65 (option) R/HD 65 (option) R 44 (option) G/3/R 44 (option)G/3 (standard) STC/FP (side scraper)

IVT - CVT or creeper transmission required



5150

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

RSM
013100175  RSM-175 Shredder  for stones, stumps and roots  129,500.00 
013100200  RSM-200 Shredder  for stones, stumps and roots  133,200.00 
013100225  RSM-225 Shredder  for stones, stumps and roots  136,900.00

Machine equipped
D131000854-O  With rotor MTM/RSM-175 type R 65  for slab rock  - 
D131000855-O  With rotor MTM/RSM-200 type R 65  for slab rock  - 
D131000856-O  With rotor MTM/RSM-225 type R 65  for slab rock  -

Options
112800033-O  With tooth type R/HD 65  to be multiplied for rotor tools quantity  38.72 
111304000-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a.  length 280 mm - 3rd + 4th category  1,972.00 
D131000604-O  Grid for RSM-175  3,220.00 
D131000605-O  Grid for RSM-200  3,601.00 
D131000606-O  Grid for RSM-225  3,976.00 
112224175-O  Dozing blade STCH-175 cpl  1,090.00 
112224200-O  Dozing blade STCH-200 cpl  1,261.00 
112224225-O  Dozing blade STCH-225 cpl  1,440.00 
D131002574-O  Roller RSM-175 cpl  12,240.00 
D131002575-O  Roller RSM-200 cpl  12,810.00 
D131002576-O  Roller RSM-225 cpl  13,380.00 
D131003140-O  Stronger transmission 300-360 CV (with PTO drive shaft 1"3/4 Z20)  3,660.00 
D131003240-O  Stronger transmission 300-360 CV (with PTO drive shaft 1"3/4 Z6)  3,539.00

Spare Parts
112800032-K  Tooth type R 65  43.60 
112800033-K  Tooth type R/HD 65  65.80 
D127001830  Bushing type R Ø external conical 50 - Ø internal 30-35  58.00 
D127001920  Tooth holder type R 812  91.07 
D127004120  Tooth holder for side scraper tooth type R 812 left  128.00 
D127004121  Tooth holder for side scraper tooth type R 812 right  128.00 
112800064-K  Tooth type G/3  164.70 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
112800066-K  Tooth STC/3/FP  332.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
112800015-K  Tooth STC/FP 1 screw  320.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
D131001220  Protection for rotor flange RSM-MTM  283.00 
920716006  Spring washer UNI 9195 Ø16 zn  0.81 
900716081  Hex head set screw UNI 5739 M16 x 40 10.9 zn  1.82

PTO drive shafts and yokes
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  standard PTO  - 

 1" 3/4 Z20  standard yoke 
W195124-O  Yoke for W2600 1"3/4 Z6 AGCC with clamping cone  - 
W194005-O  Yoke for W2600 1"3/8 Z21 AGCC with clamping cone  - 
W195121-O  Yoke for W2600 1"3/8 Z6 AGCC with clamping cone  -



LAND CLEARING
HYDRAULIC DRIVEN HEADS
When road work requires the use of special machines, excavators or skid steers, the 
solutions to look for are hydraulic tillers, mulchers, stump cutters and rock crushers. 
These utilize the hydraulic system of the machine they are attached to for rotor movement. 
When choosing the right model from the FAE line up, you must consider the power of the 
machine, terrain type and the desired result to guarantee a satisfactory job.
Our forestry machines, manufactured with high quality materials, are known for their 
robustness and reliability.

EFFICIENCY 
The quality of the work is guaranteed even under
terrain or environmental conditions that are extreme.

SOLIDITY 
The quality of the materials and the technological
development guarantee maximum reliability and
toughness over time.

SAFETY 
Our wide range of machines to choose from mean 
you can pair our attachment with your carrier and it 
will perform to the level of power and type of terrain 
operating on.



RESEARCHED, DESIGNED 
AND CREATED FOR YOU

5352



PMM/SSL

BRUSH MULCHER WITH HAMMER/FLAIL ROTOR FOR SKID STEERS.

from 60 to 100 HP Ø 3 in max

STANDARD EQUIPMENT

Anti dust machine body
Belt transmission
Quick attachment plate with self levelling device for skid steer

32/65cc variable manual displacement hydraulic piston motor with 
relief and anticavitation valve

Welded counter blade
Self cleaning rear roller with integrated skids
Attachment plate with self levelling device
Self leveling  protection rubber

Possibillity to have the rotor equipped with PML hammers
or Y-flails

OPTIONS

Stronger bearing for back roller
Multiple tooth options

MODEL

Engine
(HP)

Flow rate
(gal/min)

Pressure
(PSI) Working 

width (in)
Total width

(in)
Weight

 (Ibs)

Max shredding
diameter

(in)

No. teeth hammers           
flails 

min max min max min max PMM Y

PMM/SSL 150 60 100 16 34 3000 3600 61 69 1742 3 18 18

PMM/SSL 175 65 100 16 34 3000 3600 70 79 1874 3 22 22

PMM/SSL 200 70 100 16 34 3000 3600 79 86 2006 3 24 24

MULCHERS FOR SKID STEERS

*Variable displacement hydraulic motor.

Hammer PMM (standard) Hammer Y/3 (option)



5554

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

PMM/SSL
011005150  PMM/SSL-150 Light Duty Mulcher for skid steer  18,200.00 
011005175  PMM/SSL-175 Light Duty Mulcher for skid steer  18,700.00 
011005200  PMM/SSL-200 Light Duty Mulcher for skid steer  19,100.00

Rotor equipped
111024000-O  With "Y" blade PMM  to be multiplied for rotor hammers quantity  -

Options
600300005-O  Heavy duty roller support PMM  607.00 

780001082-O  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, F-A9) 
 for DML/SSL and UML/SSL  552.00 

600000480-O  Customized setting hydraulic motor  BYPY 65/32  -

Spare Parts
111023000  Hammer PMM  33.40 
111024000  "Y" blades kit PMM with washers  36.48 
900418202 " Hex head set screw UNI 5712 M18 x 100 10.9 black ( wrench 30 mm) "  8.05 
910618001  Nylock lock nut UNI 7473 M18 10 zn  3.75 
846005715  Belt XPB Gates Quad Power l=1500  4 belts per unit  49.39

NOTE: special order, longer delivery time.



DML/SSL - DML/SSL/VT

FORESTRY MULCHER WITH FIXED TOOTH ROTOR FOR SKID STEERS.

from 40 to 70 HP Ø  5 in max

OPTIONS

Customized setting hydraulic motor (DML/SSL/VT)

32/65cc variable manual displacement hydraulic piston motor with 
relief and anticavitation valve (DML/SSL) - (24 - 34 GPM)

Hydraulic couplers
Electrical connector

STANDARD EQUIPMENT

Anti dust machine body
Belt transmission

17/34cc variable manual displacement hydraulic piston motor with 
relief and anticavitation valve (DML/SSL) - (13 - 26 GPM)

55/38cc variable torque hydraulic piston motor (DML/SSL/VT) - 
(16 - 30 GPM)

Hydraulic hoses
Hydraulic rear hood
Welded counter blade
Working pressure control gauge

MULCHERS FOR SKID STEERS

*Variable displacement hydraulic motor.

Pushing frame
Diverter valve (plug & play) 
Motor integrated into the frame

Blade E (standard) Blade E/HD (option)

MODEL

Engine
(HP)

Flow rate
(gal/min)

Pressure  
(PSI)

Working 
width 

(in)

Total 
width

(in)

Weight 
(lbs)

Max 
shredding diam-

eter   
(in)

No. 
blades 
type E

min max min max min max

DML/SSL 125 40 70 13 34 2600 3600 49 60 1522 5 30

DML/SSL 150 40 70 13 34 2600 3600 59 69 1656 5 36

DML/SSL 175 40 70 13 34 2600 3600 68 79 1950 5 42

DML/SSL/VT 125* 40 70 16 30 2600 5000 49 60 1522 5 30

DML/SSL/VT 150* 40 70 16 30 2600 5000 59 69 1656 5 36

DML/SSL/VT 175* 40 70 16 30 2600 5000 68 79 1950 5 42



5756

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

DML/SSL
013201125  DML/SSL-125 Universal forestry mulcher for skid steer  21,100.00 
013201150  DML/SSL-150 Universal forestry mulcher for skid steer  21,600.00 
013201175  DML/SSL-175 Universal forestry mulcher for skid steer  22,200.00 

DML/SSL/VT
013207125  DML/SSL-125 VT Universal forestry mulcher for skid steer  23,700.00 
013207150  DML/SSL-150 VT Universal forestry mulcher for skid steer  24,100.00 
013207175  DML/SSL-175 VT Universal forestry mulcher for skid steer  24,600.00 

Options
112800081-O  With blade type E/HD  22.41 
600000094-O  Motor with extension shaft BYPY variable 65/32cc. for DML/SSL  From 24 GPM to 34 GPM  744.00 
600000222-O  Diverter valve 24V for DML/SSL  instead of the 12V standard valve  91.51 
400000009-O  Connector F Deutsch HD 36-18-8 8PN  special plug* 8 pins  195.00 

400000010-O  Connector F Deutsch HD 36-18-14 14PN  special plug* 14 pins  195.00 

600000479-O  Customized setting hydraulic motor BYPY 34/17  - 
600000480-O  Customized setting hydraulic motor  BYPY 65/32  - 
600000350-O  Customized setting hydraulic motor Rexroth variable 55 for DML/SSL  to optimize the mulcher performance  - 

780001083-O  Hydraulic couplers with nipples for 3 hoses (F-A13, M-A13, 
  F-A9) for DML/SSL and UML/SSL  440.00 

Spare Parts
112800098  Blade type E  49.00 
112800081  Blade type E/HD  69.00 
901214062  Hex socket head cap screw UNI 5932 M14 x 1,5 x 30 12.9 black  4.40 
400000018  Electric cable M Deutsch 4 poles - 2 x F Deutsch 2 poles l=3,8m  239.00 

780001083  Hydraulic couplers with nipples for 3 hoses (F-A13, M-A13, 
  F-A9) for DML/SSL and UML/SSL  479.00 

846005514  Belt XPB Gates Quad Power l=1450  4 belts per unit  49.39



*Variable displacement hydraulic motor.

FORESTRY MULCHER WITH FIXED TOOTH ROTOR FOR SKID STEERS.

from 75 to 120 HP Ø  8 in max

STANDARD EQUIPMENT

Anti dust machine body
Belt transmission
110/60cc variable torque hydraulic piston motor - (34 - 53 GPM)
Hydraulic hoses
Hydraulic rear hood
Adjustable skids
Welded counter blade
Working pressure control gauge
Pushing frame
Double line protection chains

OPTIONS

Customized setting hydraulic motor
Diverter valve
Oil cooler kit (roof mount or internal)
Hydraulic couplers
Electrical connector
Sonic System
Multiple tooth options

MULCHERS FOR SKID STEERS

Anti-dust rear hood
Motor integrated into the frame

UML/SSL/VT

C/3/HD (option)C/3 (standard) Blade C/3 (option) K/3 (option) I (option) C/3/SS (side scraper)

MODEL

Engine
(HP)

Flow rate
(gal/min)

Pressure
(PSI)

Working 
width 

(in)

Total 
width

(in)

Weight
 (Ibs)

Max sh-
redding

diameter
(in)

No. teeth type

min max min max min max C/3+C/3/SS I+C/3/SS

UML/SSL/VT 125* 75 120 30 55 2901 5076 53 65 2646 8 26+2 36+2

UML/SSL/VT 150* 75 120 30 55 2901 5076 62 74 2866 8 32+2 42+2

UML/SSL/VT 175* 75 120 30 55 2901 5076 72 83 3086 8 36+2 50+2

NEW SONIC SYSTEM



5958

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UML/SSL/VT

012136125  UML/SSL-125 VT Universal forestry mulcher for skid steer 
 with push-frame  32,300.00 

012136150  UML/SSL-150 VT Universal forestry mulcher for skid steer 
 with push-frame  33,300.00 

012136175  UML/SSL-175 VT Universal forestry mulcher for skid steer 
 with push-frame  34,300.00 

Machine equipped
D121175452-O  With rotor UML/ST-125 Ø220 type I  1,454.00 
D121175453-O  With rotor UML/ST-150 Ø220 type I  1,586.00 
D121175454-O  With rotor UML/ST-175 Ø220 type I  2,201.00 

Rotor equipped
112800071-O  With tooth-blade type C/3  to be multiplied for rotor teeth quantity  31.69 
111530018-O  With tooth type C/3/HD  to be multiplied for rotor teeth quantity  36.96 
600000569-O  With tooth type K/3 screw L=80  to be multiplied for rotor teeth quantity  26.57 

Options

600000416  Roof mounted hydraulic cooler for skid steer  mounting hardware and external plumbing 
 not included  5,045.00 

600000269-O  Kit diverter valve 12V for U-FML/SSL  includes electrical cable  701.00 
600000215-O  Oil cooler kit for U-FML/SSL-125  in-shell cooler  2,678.00 
600000217-O  Oil cooler kit for U-FML/SSL-150  in-shell cooler  2,678.00 
600000218-O  Oil cooler kit for U-FML/SSL-175  in-shell cooler  2,678.00 
400000009-O  Connector F Deutsch HD 36-18-8 8PN  195.00 
400000010-O  Connector F Deutsch HD 36-18-14 14PN  195.00 
600000458-O  Sonic for UML/SSL VT 12V  New SONIC SYSTEM  2,500.00 

780001511-O  Hydraulic couplers with nipples for 3 hoses for Case/New 
 Holland (F-A15, M-A15, F-A9) for UML/SSL  552.00 

780001081-O  Hydraulic couplers with nipples for 5 hoses (F-A17, M-A17, 
 F-A9, F-A13, M-A13) for UML/SSL  664.00 

780001082-O  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, 
 F-A9) for DML/SSL and UML/SSL  552.00

Spare Parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112800082-K  Tooth type I  Only used on type I rotor    87.90 
112800105-K  Tooth type K/3  Only used on type I rotor    128.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
780000944  Diverter valve for antishock valve 1" (without coils)  382.00 
400000018  Electric cable M Deutsch 4 poles - 2 x F Deutsch 2 poles l=3,8m  239.00 
400000009  Connector kit F Deutsch HD 36-18-8 8PN  191.00 
400000010  Connector kit F Deutsch HD 36-18-14 14PN  191.00 

780001081  Hydraulic couplers with nipples for 5 hoses (F-A17, M-A17, F-A9, 
F-A13, M-A13) for UML/SSL  651.00 

780001082  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, 
F-A9) for DML/SSL and UML/SSL  541.00 

891000447  Belt Poly-chain 14M-68 carbon volt l=1568  belt for UML/SSL/VT - 1 belt per unit  862.00



MULCHERS FOR SKID STEERS

UML/SSL/VT/BL

MODEL

Engine
(HP)

Flow rate
(gal/min)

Pressure
(PSI) Working 

width (in)

Total 
width

(in)

Weight
 (Ibs)

Max 
shredding
diameter

(in)

No. teeth type

min max min max min max Blade C/3+C/3/SS

UML/SSL/VT/BL 125* 75 120 34 53 2900 5000 53 65 2425 8 20+2

UML/SSL/VT/BL 150* 75 120 34 53 2900 5000 62 74 2756 8 24+2

UML/SSL/VT/BL 175* 75 120 34 53 2900 5000 72 83 2954 8 30+2

FORESTRY MULCHER WITH BITE LIMITER ROTOR SYSTEM.

from 75 to 120 HP Ø  8 in max

STANDARD EQUIPMENT

Anti dust machine body
Belt transmission
110/60cc variable torque hydraulic piston motor - (34 - 53 GPM)
Hydraulic hoses
Hydraulic rear hood
Adjustable skids
Welded counter blade
Working pressure control gauge
Pushing frame

OPTIONS

Customized setting hydraulic motor
Oil cooler kit (roof mount or internal)
Hydraulic couplers
Sonic System

Double line protection chains
Anti-dust rear hood
Motor integrated into the frame
With rotor Bite Limiter dedicated rear hood

Blade C/3 (standard) C/3/SS (side scraper)

NEW SONIC SYSTEM



6160

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

UML/SSL/VT/BL

012162125 UML/SSL-125 BL Universal forestry mulcher 
for skid steer with push-frame - Bite Limiter  32,500.00 

012162150 UML/SSL-150 BL Universal forestry mulcher for skid steer with  
push-frame - Bite Limiter  33,800.00 

012162175 UML/SSL-175 BL Universal forestry mulcher for skid steer with 
push-frame - Bite Limiter  36,000.00 

Options

600000416  Roof mounted hydraulic cooler for skid steer  mounting hardware and external plumbing 
 not included  5,045.00 

600000215-O  Oil cooler kit for U-FML/SSL-125  in-shell cooler  2,678.00 
600000217-O  Oil cooler kit for U-FML/SSL-150  in-shell cooler  2,678.00 
600000218-O  Oil cooler kit for U-FML/SSL-175  in-shell cooler  2,678.00 
600000546-O  Sonic for UML/SSL BL 12V  New SONIC SYSTEM  2,500.00 

780001511-O  Hydraulic couplers with nipples for 3 hoses 
 for Case/New Holland (F-A15, M-A15, F-A9) for UML/SSL  552.00 

780001082-O  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, 
 F-A9) for DML/SSL and UML/SSL  552.00

Spare Parts
111530017-K  Tooth type C/3  99.00 
111530018-K  Tooth type C/3/HD  133.40 
112800093  Blade adaptor C/3  67.90 
112800117  Blade type C/3 forged  29.00 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, washer  & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 

780001082  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, 
F-A9) for DML/SSL and UML/SSL  541.00 

891000447  Belt Poly-chain 14M-68 carbon volt l=1568  belt for UML/SSL/VT - 1 belt per unit  862.00



STC/SSL

STONE CRUSHERS FOR SKID STEER LOADERS

STONE CRUSHERS 
FOR SKID STEER LOADERS

from 80 to 120 HP D 6 in

OPTIONAL

Diverter valve
Hydraulic couplers
Electrical connector

STANDARD EQUIPMENT

Hydraulic piston motor 125cc with relief and anticavitation valve
Adjustable hardox counter-blade

Inner hydraulic dozing hood with adjustable cylinder for better ou-
tput material regulation

Penetration skids
Working pressure control gauge
Hydraulic hoses
Hydraulic top link

MODEL

Power HP
(CV)

Requirements
Flow gal/min

Pressure PSI Working 
width

(in)

Total width
(in)

Weight
(Ibs)

Working
depth (in)

Teeth q.ty type
STCL/3 + C/3/SS

min max min max min max

STC/SSL 125 80 120 35 40 3000 5000 53 65 2392 6 24 + 4

STC/SSL 150 90 120 35 40 3000 5000 63 74 3061 6 30 + 4

C/3/SS (side scraper)STCL/3 (standard)



6362

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

STC/SSL
012206125  STC/SSL-125 Stone crusher for skid steer  44,810.00 
012206150  STC/SSL-150 Stone crusher for skid steer  45,900.00 

Options

600000416  Roof mounted hydraulic cooler for skid steer  mounting hardware and external plumbing 
 not included  5,045.00 

780001081-O  Hydraulic couplers with nipples for 5 hoses (F-A17, M-A17, F-A9, 
  F-A13, M-A13) for UML/SSL  664.00 

780001082-O  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, F-A9) 
 for DML/SSL and UML/SSL  552.00 

780001511-O  Hydraulic couplers with nipples for 3 hoses for Case/New Holland 
 (F-A15, M-A15, F-A9) for UML/SSL  552.00 

111131000-O  Kit diverter valve 12V  includes electrical cable  718.00 
400000010-O  Connector F Deutsch HD 36-18-14 14PN  195.00 

Spare Parts
112800063-K  Tooth STCL/3  150.60 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, schnorr & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
780000944  Diverter valve for antishock valve 1" (without coils)  382.00 
400000018  Electric cable M Deutsch 4 poles - 2 x F Deutsch 2 poles l=3,8m  239.00 
400000010  Connector kit F Deutsch HD 36-18-14 14PN  191.00 

780001081  Hydraulic couplers with nipples for 5 hoses (F-A17, M-A17, F-A9, 
F-A13, M-A13) for UML/SSL  651.00 

780001082  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, F-A9) 
 for DML/SSL and UML/SSL  541.00 

891000447  Belt Poly-chain 14M-68 carbon volt l=1568  1 belt per unit  862.00



OPENING DOORS  
TO TOP-NOTCH  

TECHNOLOGICAL  
EVOLUTION  

FOR ROAD   
CONSTRUCTION

PTO DRIVEN ATTACHMENTS

119122



ROTOR G/3 ROTOR R 

MODEL
Tractor

(min/max)
PTO

(rpm)

Working 
width

(in)

Total width
(in)

Weight
(Ibs)

Working
depth (in) No. teeth/type 

G/3 +STC/3/FP

Working
depth (in) No. teeth /type

R + R/HD
Max. 1 Max. 2 Max. 1 Max. 2

RSL 100 80–120 540 39 54 3530 6 11 28 +6 6 11 58 +16

RSL 125 90–120 540 49 63 3970 6 11 36 +6 6 11 82 +16

RSL 150 100–120 540 59 72 4320 6 11 42 +6 6 11 98 +16

RSL / DT 175 120–190 1000 68 83 5180 6 11 50 +6 6 11 122 +16

RSL / DT 200 130–190 1000 77 92 5511 6 11 60 +6 6 11 138 +16

RSL / DT 225 140–190 1000 87 102 5840 6 11 70 +6 6 11 154 +16

RSL

ROCK GRINDER, STABILIZER, STONE CRUSHER AND ASPHALT SHREDDER 
FOR PTO TRACTORS.

MULTITASK

from 80 to 190 HP D 11 in

OPTIONS

Extended 3 point linkage

Hydraulic top link

Water spray system

Multiple tooth options

STANDARD EQUIPMENT

Friction clutch on side PTO
PTO shaft with cam clutch
Gearbox with freewheel
Transmission with side gearbox
Hydraulic rear hood
Flat pressed welded steel counter-blades
Interchangeable inner antiwear plates in Hardox®

Hydraulically adjustable skids
Anti dust machine body

Bolted grid on rear hood
Inside lateral protection

Max.1: with rotor only   Max.2: maximum depth (maximum working depth depending on ground conditions)
This information refers to the machine equipped as standard. 

STC/3/FP (side scraper)R 65 (option) R/HD 65 (option) R 44 (option) G/3/R 44 (option)G/3 (standard) R/HD 65 (side scraper)

IVT - CVT or creeper transmission required



121120

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

RSL
012901100  RSL/ST-100 Shredder 540 rpm  for stones and stabilization  56,400.00 
012901125  RSL/ST-125 Shredder 540 rpm  for stones and stabilization  58,840.00 
012901150  RSL/ST-150 Shredder 540 rpm  for stones and stabilization  62,220.00 
012902175  RSL/DT-175 Shredder  for stones and stabilization  78,800.00 
012902200  RSL/DT-200 Shredder  for stones and stabilization  85,100.00 
012902225  RSL/DT-225 Shredder  for stones and stabilization  91,420.00 

Machine equipped
D129004871-O  With rotor RSL/ST-100 type G/3/R 44  for stabilizing and asphalt milling  - 
D129001711-O  With rotor RSL/ST-100 type R 65  for slab rock and stabilization  - 
D129004872-O  With rotor RSL/ST-125 type G/3/R 44  for stabilizing and asphalt milling  - 
D129001712-O  With rotor RSL/ST-125 type R 65  for slab rock and stabilization  - 
D129004873-O  With rotor RSL/ST-150 type G/3/R 44  for stabilizing and asphalt milling  - 
D129001713-O  With rotor RSL/ST-150 type R 65  for slab rock and stabilization  - 
D129005064-O  With rotor RSL/DT-175 type G/3/R 44  for stabilizing and asphalt milling  - 
D129002404-O  With rotor RSL/DT-175 type R 65  for slab rock and stabilization  - 
D129005065-O  With rotor RSL/DT-200 type G/3/R 44  for stabilizing and asphalt milling  - 
D129002405-O  With rotor RSL/DT-200 type R 65  for slab rock and stabilization  - 
D129005066-O  With rotor RSL/DT-225 type G/3/R 44  for stabilizing and asphalt milling  - 
D129002406-O  With rotor RSL/DT-225 type R 65  for slab rock and stabilization  - 

Options
112800033-O  With tooth type R/HD 65  to be multiplied for rotor teeth quantity  38.72 
112800085-O  With tooth type R 44-22 + adaptor R 65-22  to be multiplied for rotor teeth quantity  12.87 
111204000-O  Hydraulic top link 65 x 35 x 280 cat. 2  589.00 
112604000-O  Hydraulic top link 80 x 40 x 280 cat. 3 q.a.  1,625.00 
D129004790-O  Plate with screws for protection chains RSL  single price for each protection piece  70.38 
891000210-O  Water spray system WSS Basic for RSL/ST-100  7,504.00 
891000211-O  Water spray system WSS Basic for RSL/ST-125  7,504.00 
891000212-O  Water spray system WSS Basic for RSL/ST-150  7,504.00 
891000227-O  Water spray system WSS Basic for RSL/DT-175  7,504.00 
D129004624-O  Water spray system WSS High Flow for RSL/DT-175  stronger water flow version  13,620.00 
891000228-O  Water spray system WSS Basic for RSL/DT-200  7,504.00 
D129004625-O  Water spray system WSS High Flow for RSL/DT-200  stronger water flow version  13,890.00 
891000229-O  Water spray system WSS Basic for RSL/DT-225  7,504.00 
D129004626-O  Water spray system WSS High Flow for RSL/DT-225  stronger water flow version  14,140.00 
D129002570-O  Extended three point linkage kit for RSL  available only for RSL 100-125-150  1,982.00 

Spare Parts
112800032-K  Tooth type R 65  43.60 
112800033-K  Tooth type R/HD 65  65.80 
D127004150  Bushing type R Ø external conical 45 - Ø internal 30-35  67.11 
930104501  Snap ring DIN 471 AS Ø045  x 2,5  Bushing fixing ring  2.57 
D127001810  Spring ring Ø30  Ring fixing tooth type R  3.45 
112800084  Tooth adaptor type R 65-22  Adapter for tooth R44  40.50 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
112800064-K  Tooth type G/3  164.70 
112800080-K  Tooth adaptor type G/3-22  Adapter type G/3  99.20 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800033-K  Tooth type R/HD 65  65.80 
D127004150  Bushing type R Ø external conical 45 - Ø internal 30-35  67.11 
930104501  Snap ring DIN 471 AS Ø045  x 2,5  Bushing fixing ring  2.57 
D127001810  Spring ring Ø30  Ring fixing tooth type R  3.45 

Yokes
100021018  PTO drive shaft W2500 K64 - 2700 Nm 135349 (without yoke)  standard PTO  - 
W362430-O  Yoke for W2500 1"3/8 Z21 ASG  - 
W362432-O  Yoke for W2500 1"3/4 Z6 ASG  - 
W362434-O  Yoke for W2500 1"3/4 Z20 ASG  - 

 1" 3/8 Z6  standard yoke 



Max.1: with rotor only   Max.2: maximum depth (maximum working depth depending on ground conditions)
This information refers to the machine equipped as standard. 

MTL

MULTITASK

from 140 to 240 HP D 11 in

ROTOR G/3 ROTOR R (optional)

MODEL
Tractor

(min/max)
PTO

(rpm)

Working 
width

(in)

Total width
(in)

Weight
(Ibs)

Working
depth (in) No. teeth/type 

G/3 +STC/3/FP

Working
depth (in) No. teeth /type

R + R/HD
Max. 1 Max. 2 Max. 1 Max. 2

MTL  150 140-240 1000 58 72 7429 6 11 42 + 6 6 11 98 + 16

MTL  175 150-240 1000 68 81 7980 6 11 50 + 6 6 11 122 + 16

MTL  200 160-240 1000 77 91 8531 6 11 60 + 6 6 11 138 + 16

MTL  225 170-240 1000 88 100 9083 6 11 70 + 6 6 11 154 + 16

OPTIONS

Hydraulic top link
Water spray system
Multiple tooth options
Bolt-on chains protection plates

STANDARD EQUIPMENT

Friction clutch on side PTO
PTO shaft with cam clutch
Gearbox with freewheel
Transmission with side gearbox
Hydraulic rear hood
Adjustable hardox counter-blade
Interchangeable inner antiwear plates in Hardox®

Anti dust machine body
Variable displacement chamber
Bolted grid on rear hood

Inside lateral protection
Protection chains

ROCK GRINDER, STABILIZER, STONE CRUSHER AND ASPHALT SHREDDER 
FOR PTO TRACTORS.

R 65  (option) R/HD 65 (option) R 44 (option) G/3/R 44 (option) R/HD 65 (side scraper)STC/3/FP (side scraper)G/3 (standard)

IVT - CVT or creeper transmission required



123122

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

MTL
014500150  MTL-150 Shredder  for stones and stabilization  99,500.00 
014500175  MTL-175 Shredder  for stones and stabilization  103,200.00 
014500200  MTL-200 Shredder  for stones and stabilization  106,900.00 
014500225  MTL-225 Shredder  for stones and stabilization  110,500.00 

Options
111304000-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a.  1,972.00 
D145001390-O  Graduated rods MTL in inches  - 
D145000173-O  Water spray system WSS Basic for MTL-150  Basic system of the water flow control  7,768.00 
D145000174-O  Water spray system WSS Basic for MTL-175  Basic system of the water flow control  7,768.00 
D145000175-O  Water spray system WSS Basic for MTL-200  Basic system of the water flow control  8,286.00 
D145000176-O  Water spray system WSS Basic for MTL-225  Basic system of the water flow control  8,322.00 
D145001533-O  Water spray system WSS High Flow for MTL-150  High flow water control system  13,300.00 
D145001534-O  Water spray system WSS High Flow for MTL-175  High flow water control system  13,560.00 
D145001535-O  Water spray system WSS High Flow for MTL-200  High flow water control system  13,810.00 
D145001536-O  Water spray system WSS High Flow for MTL-225  High flow water control system  14,150.00 

Spare Parts
112800064-K  Tooth type G/3  164.70 
112800080-K  Tooth adaptor type G/3-22  Adapter type G/3  99.20 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800066-K  Tooth STC/3/FP  332.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
D143000570  Chain flap section 28 - 6 links l=334  141.00 
D143000590  Chain flap section 28 - 6 links l=239  126.00 
900716091  Hex head set screw UNI 5739 M16 x 45 10.9 zn  4.52 
920716006  Spring washer UNI 9195 Ø16 zn  0.81 
920116001  Flat washer UNI 6592 Ø16 zn  0.61 
891000342  Brass nozzle GAS 3/8" 40 l/min  nozzle for water spray system  11.42 
891000207  Brass nozzle GAS 3/8" 1 l/min  nozzle for high flow water spray system  12.83 

Yokes
100021107  PTO drive shaft W2600 K64 - 3500 Nm rif. 694171 (without yoke)  standard PTO  - 
W195124-O  Yoke for W2600 1"3/4 Z6 AGCC with clamping cone  - 
W194005-O  Yoke for W2600 1"3/8 Z21 AGCC with clamping cone  - 
W195121-O  Yoke for W2600 1"3/8 Z6 AGCC with clamping cone  - 

 1" 3/4 Z20  standard yoke 



ROTOR G/3 ROTOR R 

MODEL
Tractor

(min/max)
PTO

(rpm)

Working 
width

(in)

Total 
width

(in)

Weight
(Ibs)

Working
depth (in)

No. teeth/type 
G/3 + STC/3/FP

+ STC/FP

Working
depth (in)

No. teeth /type
R + R/HD + STC/3/FP

 + STC/FP
Max. 1 Max. 2 Max. 1 Max. 2

MTM 200 240-300 1000 80 98 12,570 10 16 94+4+4 9 16 126+20+4+4

MTM 225 240-300 1000 90 107 13,500 10 16 106+4+4 9 16 144+20+4+4

MTM/HP 200 300-360 1000 80 98 12,570 10 16 94+4+4 9 16 126+20+4+4

MTM/HP 225 300-360 1000 90 107 13,500 10 16 106+4+4 9 16 144+20+4+4

MTM - MTM/HP

MULTITASK

from 240 to 360 HP D 16 in

OPTIONS

Extended 3 point linkage
PTO shaft P700 for HP version
Hydraulic top link
Water spray system
FCS full control system
Multiple tooth options

STANDARD EQUIPMENT

PTO shaft with cam clutch
Friction clutch on side PTO
Gearbox with freewheel
Transmission with side gearbox
Hydraulic front hood
Hydraulic rear hood
Adjustable hardox counter-blade
Interchangeable inner antiwear plates in Hardox®

Adjustable skids
Anti dust machine body
Variable displacement chamber

Bolted grid on rear hood
Inside lateral protection

ROCK GRINDER, STABILIZER, STONE CRUSHER AND ASPHALT SHREDDER 
FOR PTO TRACTORS.

Max.1: with rotor only   Max.2: maximum depth (maximum working depth depending on ground conditions)
This information refers to the machine equipped as standard. 

STC/3/FP (side scraper)R 65 (option) R/HD 65 (option) R 44 (option) G/3/R 44 (option)G/3 (standard) STC/FP (side scraper)

IVT - CVT or creeper transmission required



125124

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

MTM
013700200  MTM-200 Shredder  for stones and stabilization  149,400.00 
013700225  MTM-225 Shredder  for stones and stabilization  152,900.00 

MTM/HP
013701200  MTM/HP-200 Shredder  for stones and stabilization  152,700.00 
013701225  MTM/HP-225 Shredder  for stones and stabilization  156,300.00 

Machine equipped
D131000855-O  With rotor MTM/RSM-200 type R 65  for slab rock and stabilization  - 
D131000856-O  With rotor MTM/RSM-225 type R 65  for slab rock and stabilization  - 

Options
112800086-O  With tooth type G/3/R 44-22  to be multiplied for rotor teeth quantity  - 

112800033-O  With tooth type R/HD 65  to be multiplied for rotor teeth quantity  38.72 

112800085-O  With tooth type R 44-22 + adaptor R 65-22  to be multiplied for rotor teeth quantity  12.87 

600000378-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a. ORFS  length 280 mm - 3rd + 4th category  2,004.00 

600000379-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. ORFS  length 280 mm - 3rd + 4th category  3,156.00 

891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 

400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP l=0,2m  adaptor   157.00 

D137000970-O  Water spray system WSS High Flow for MTM  Flow control  16,910.00 

D137000990-O  Water spray system FCS for MTM  Automatic control of flow-speed-depth  25,500.00 

Spare Parts
112800032-K  Tooth type R 65  43.60 
112800033-K  Tooth type R/HD 65  65.80 
D127001830  Bushing type R Ø external conical 50 - Ø internal 30-35  58.00 
930105001  Snap ring Ø050 x 3 - fastening eyelets h=6,5 mm  Bushing fixing ring  2.71 
D127001810  Spring ring Ø30  Ring fixing tooth type R  3.45 
112800084  Tooth adaptor type R 65-22  Adapter for tooth R44  40.50 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
112800064-K  Tooth type G/3  164.70 
112800080-K  Tooth adaptor type G/3-22  Adapter type G/3  99.20 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800066-K  Tooth STC/3/FP  332.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800015-K  Tooth STC/FP 1 screw  320.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
D131001220  Protection for rotor flange RSM-MTM  283.00 
920716006  Spring washer UNI 9195 Ø16 zn  0.81 
900716081  Hex head set screw UNI 5739 M16 x 40 10.9 zn  1.82 
891000134  Brass nozzle Veejet GAS 1/2" 100 l/min  47.78 
891000504  Brass nozzle Veejet GAS 1/2" 200 l/min  47.98 
891000271  Brass nozzle Veejet GAS 1/2" 20 l/min  47.78 
891000327  Brass nozzle Veejet GAS 1/2" 40 l/min  47.98 
891000222  Brass nozzle Veejet GAS 1/2" 60 l/min  47.78 
891000296  Brass nozzle Veejet GAS 1/2" 150 l/min  47.78 

PTO Shaft for MTM	
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  standard PTO  - 
W195124-O  Yoke for W2600 1"3/4 Z6 AGCC with clamping cone  - 
W194005-O  Yoke for W2600 1"3/8 Z21 AGCC with clamping cone  - 
W195121-O  Yoke for W2600 1"3/8 Z6 AGCC with clamping cone  - 

 1" 3/4 Z20  standard yoke 

PTO Shaft for MTM/HP
100026043  PTO drive shaft BYPY DSK 1"3/4 Z20 (gearbox 1"3/4 Z20)  standard PTO for UMH/S  5,775.00 
100026046-O  PTO drive shaft BYPY DSK 1"3/4 Z6  - 
100026001-O  PTO drive shaft Walterscheid P700 1"3/4 Z20  - 
100026002-O  PTO drive shaft Walterscheid P700 1"3/4 Z6  -



MTH - MTH/HP

MULTITASK

from 360 to 500 HP D 20 in

STANDARD EQUIPMENT

Hydraulic rear hood
Interchangeable inner antiwear plates in Hardox®
Enclosed machine body
Variable displacement chamber
Bolted grid on rear hood
Inside lateral protection
Bolted on protection chains
Transmission with side gearbox
Side gearbox with oil cooling system (MTH/HP)
Gearbox with freewheel
Gearbox with oil cooling system (MTH/HP)
PTO shaft
Cam clutch on side PTO Cam clutch on side PTO

Bolted-on rotor shafts (in forged steel)
Hydraulic top link
Flat pressed welded steel counter-blades
Adjustable Hardox® counter-blade
Adjustable skids
Dozing blades with spring system

ROCK GRINDER, STABILIZER, STONE CRUSHER AND ASPHALT SHREDDER 
FOR PTO TRACTORS.

OPTIONS

Extended 3 point linkage
Water spray system
FCS full control system
Multiple tooth options

IVT - CVT or creeper transmission required

STC/3/FP (side scraper)R 65 (option) R/HD 65 (option)G/3 (standard) STC/FP (side scraper)Adapter  R
(Option)

Adapter G/3
(Option)

Max.1: maximum depth achiavable with skids  Max.2: maximum depth achiavable without skids. This information refers to the machine equipped as standard. 

ROTOR G/3 ROTOR R (optional) 

MODEL
Tractor
(min/
max)

PTO 
(rpm)

Working 
width
 (mm)

Total 
width
(mm)

Weight
(kg)

Working
depth (mm) No. teeth/type 

G/3 + STC/3/FP
+ STC/FP

Working
depth (mm)

No. teeth/type 
R + R/HD + STC/3/FP

 + STC/FP
Max. 1 Max. 2 Max. 1 Max. 2

MTH 225 300-400 1000 90 114 17111 13 20 116+4+4 13 20 160+24+6+6

MTH 250 300-400 1000 101 124 18000 13 20 132+4+4 13 20 182+24+6+6

MTH/HP 225 360-500 1000 91 114 17333 13 20 116+4+4 13 20 160+24+6+6

MTH/HP 250 360-500 1000 101 124 18222 13 20 132+4+4 20 20 182+24+6+6



127126

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

MTH
012703225  MTH-225 Shredder  for stones and stabilization  179,700.00 
012703250  MTH-250 Shredder  for stones and stabilization  183,500.00 

MTH/HP
012702225  MTH/HP-225 Shredder  for stones and stabilization  196,500.00 

012702250  MTH/HP-250 Shredder  for stones and stabilization  201,200.00 

D127006155-O  With rotor MTH-200 type R 65  for slab rock and stabilization  - 
D127006156-O  With rotor MTH-225 type R 65  for slab rock and stabilization  - 

Options
112800086-O  With tooth type G/3/R 44-22  to be multiplied for rotor teeth quantity  - 
112800033-O  With tooth type R/HD 65  to be multiplied for rotor teeth quantity  38.72 
112800085-O  With tooth type R 44-22 + adaptor R 65-22  to be multiplied for rotor teeth quantity  12.87 
D127009630-O  Water spray system WSS High Flow for MTH  Flow control  21,590.00 
D127009640-O  Water spray system FCS for MTH  Automatic control of flow-speed-depth  31,930.00 
D127009650-O  Water spray system WSS High Flow for MTH/HP  Flow control  21,590.00 
D127009660-O  Water spray system FCS for MTH/HP  Automatic control of flow-speed-depth  31,930.00 
891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 
400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP l=0,2m  adaptor   157.00 
D127009000-O  Extended three point linkage kit for MTH  3,036.00 
D127009020-O  Lower point linkage kit 4th category MTH  - 
D127009036-O  Front hood MTH-225  1,832.00 
D127009037-O  Front hood MTH-250  1,881.00 
D127006330-O  Automatic greasing kit for MTH  3,383.00 
600000484-O  Display FCS for MTH/HP (surcharge)  8,250.00 

Spare Parts
112800032-K  Tooth type R 65  43.60 
112800033-K  Tooth type R/HD 65  65.80 
D127001830  Bushing type R Ø external conical 50 - Ø internal 30-35  58.00 
930105001  Snap ring Ø050 x 3 - fastening eyelets h=6,5 mm  Bushing fixing ring  2.71 
D127001810  Spring ring Ø30  Ring fixing tooth type R  3.45 
112800084  Tooth adaptor type R 65-22  Adapter for tooth R44  40.50 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
112800064-K  Tooth type G/3  164.70 
112800080-K  Tooth adaptor type G/3-22  Adapter type G/3  99.20 
112800076-K  Tooth type R 44-22  Tooth R44 suitable for asphalt  15.20 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800066-K  Tooth STC/3/FP  332.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
112800015-K  Tooth STC/FP 1 screw  320.40 
901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 
921624006  Schnorr anti vibration washer Ø24  1.96 
891000134  Brass nozzle Veejet GAS 1/2" 100 l/min  4 pieces for MTH 225  47.78 
891000504  Brass nozzle Veejet GAS 1/2" 200 l/min  4 pieces for MTH 225  47.98 
891000271  Brass nozzle Veejet GAS 1/2" 20 l/min  4 pieces for MTH 225  47.78 
891000327  Brass nozzle Veejet GAS 1/2" 40 l/min  4 pieces for MTH 225  47.98 
891000222  Brass nozzle Veejet GAS 1/2" 60 l/min  4 pieces for MTH 225  47.78 
891000296  Brass nozzle Veejet GAS 1/2" 150 l/min  4 pieces for MTH 225  47.78 

PTO Shaft for MTH
100026043  PTO drive shaft BYPY DSK 1"3/4 Z20 (gearbox 1"3/4 Z20)  standard PTO for UMH/S  5,775.00 
100026046-O  PTO drive shaft BYPY DSK 1"3/4 Z6  - 
100026001-O  PTO drive shaft Walterscheid P700 1"3/4 Z20  - 
100026002-O  PTO drive shaft Walterscheid P700 1"3/4 Z6  - 

PTO Shaft for MTH/HP
100026033  PTO drive shaft BYPY DSK 2"1/4 Z22  standard PTO  -



FORESTRY TILLER FOR PTO TRACTORS WITH FIXED TOOTH ROTOR.

SSH - SSH/HP

FORESTRY TILLERS

from 160 to 500 HP Ø28 in max D 20 in

F/3 (option) MH (side scraper)A/3 (standard) A/3/HD (option)

STANDARD EQUIPMENT

Hydraulic rear hood
Interchangeable inner antiwear plates in Hardox®

Enclosed machine body
Inside lateral protection
Protection chains
Transmission with side gearbox
Side gearbox with oil cooling system (SSH/HP)
Gearbox with freewheel
Gearbox with oil cooling system (SSH/HP)
PTO shaft (SSH/HP)
Friction clutches
PTO shaft with cam clutch (SSH) 
Bolted-on rotor shafts (in forged steel)
Hydraulic top link (not for SSH 150-175 version)

OPTIONS

Bolted grid on rear hood
Stronger HP transmission for tractors up to 360-400 HP (SSH)
Multiple tooth options
W style self aligning device between PTO drive shaft/gearbox
Adjustable counter-blade (forest)
Adjustable skids / Dozing blade
Hydraulic support roller / Increased hydraulic roller

Z style self ranging system of the PTO drive shaft/gearbox (not for SSH 
150-175 version)
Adjustable Hardox® counter-blade

MODEL
Engine (HP) PTO

(rpm)

Working 
width 

(in)

Total 
width

(in)

 Weight
 (lbs)

Max 
shredding 

(in)

Max 
working 
depth

(in)

No. teeth type
A/3 + MH 

min max

SSH 150 160 280 1000 63 78 8135 28 20 58+4

SSH 175 180 280 1000 72 87 8642 28 20 66+4

SSH 200 200 400 1000 82 97 10648 28 20 78+4

SSH 225 220 400 1000 91 107 11464 28 20 88+4

SSH 250 240 400 1000 101 116 12280 28 20 98+4

SSH/HP 225 360 500 1000 91 107 11707 28 20 88+4

SSH/HP 250 360 500 1000 101 116 12522 28 20 98+4

IVT - CVT or creeper transmission required



129128

P
R

IC
E

 L
IS

T
Part number Part description Notes  Price $

SSH
012500150  SSH-150 Forestry tiller/Soil stabilizer  102,000.00 
012500175  SSH-175 Forestry tiller/Soil stabilizer  110,000.00 
012504200  SSH-200 Forestry tiller/Soil stabilizer  119,500.00 
012504225  SSH-225 Forestry tiller/Soil stabilizer  123,000.00 
012504250  SSH-250 Forestry tiller/Soil stabilizer  126,600.00 

SSH/HP
012503225  SSH/HP-225 Forestry tiller/Soil stabilizer  136,600.00 
012503250  SSH/HP-250 Forestry tiller/Soil stabilizer  139,800.00 

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 
112800094-O  With tooth type F/3  to be multiplied for rotor teeth quantity  91.72 
112800096-O  With tooth type F/3/R 44-22  to be multiplied for rotor teeth quantity  32.00 

Options
111304000-O  Hydraulic top link 100 x 60 x 280 cat. 3-4 q.a.  Only for SSH 150 and 175  1,972.00 
600000356-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. (surcharge)  Only for SSH 200-225-250  1,040.00 
891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 
D125011763-O  Roller SSH-150 Ø508 cpl  in alternative to the dozing blade      #  9,001.00 
D125011764-O  Roller SSH-175 Ø508 cpl  in alternative to the dozing blade      #  9,455.00 
D125011965-O  Roller SSH-200 Ø508 cpl  in alternative to the dozing blade      #  10,890.00 
D125011966-O  Roller SSH-225 Ø508 cpl  in alternative to the dozing blade      #  11,140.00 
D125011967-O  Roller SSH-250 Ø508 cpl  in alternative to the dozing blade      #  11,390.00 
312539150-O  Dozing blade SSH-150 cpl  in alternative to the roller #  1,969.00 
312539175-O  Dozing blade SSH-175 cpl  in alternative to the roller #  2,087.00 
312539200-O  Dozing blade SSH-200 cpl  in alternative to the roller #  2,213.00 
312539225-O  Dozing blade SSH-225 cpl  in alternative to the roller #  2,351.00 
312539250-O  Dozing blade SSH-250 cpl  in alternative to the roller #  2,483.00 
D125011020-O  Stronger transmission 360-400 CV (with PTO drive shaft 1"3/4 Z20)  * P700 and two W2600 on the sides  3,645.00 
D125011040-O  Stronger transmission 360-400 CV (with PTO drive shaft 1"3/4 Z6)  * P700 and two W2600 on the sides  3,645.00 
D125012810-O  Skid extension SSH  1,386.00 
600000519-O  "W" alignment kit for SSH  1,980.00 
600000520-O  "W" alignment kit for SSH/HP  3,630.00 
400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP l=0,2m  adaptor   157.00 

Spare Parts
112800075-K  Tooth type A/3  93.00 
112800078-K  Tooth type A/3/HD  136.50 
112800094-K  Tooth type F/3  182.90 
112800097  Tooth adaptor type F/3-22  106.20 
112800076-K  Tooth type R 44-22  15.20 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112700000-K  Side scraper tooth type M-H left  294.10 
112700001-K  Side scraper tooth type M-H right  294.10 
901216164  Hex socket head cap screw UNI 5932 M16 x 1,5 x 80 12.9 black  8.05 
901216244  Hex socket head cap screw UNI 5932 M16 x 1,5 x 120 12.9 black  9.48 
921616006  Schnorr anti vibration washer Ø16  0.93 

Yokes for SSH models
100021115  PTO drive shaft W2600 K64 - 3800 Nm rif. 694172 (without yoke)  standard PTO  - 
W195124-O  Yoke for W2600 1"3/4 Z6 AGCC with clamping cone  - 
W194005-O  Yoke for W2600 1"3/8 Z21 AGCC with clamping cone  - 
W195121-O  Yoke for W2600 1"3/8 Z6 AGCC with clamping cone  - 

 1" 3/4 Z20  standard yoke 

Yokes for SSH/HP models:	
100026033  PTO drive shaft BYPY DSK 2"1/4 Z22  standard PTO   -

* Only for SSH 200, 225 and 250
NOTE: if tractor does NOT have adjustable hitch option the “W alignment” option is NOT compatible. # EITHER DOZING BLADE OR ROLLER (NOT BOTH)



STABI/H - STABI/H/HP

SOIL STABILIZER FOR PTO TRACTORS.

STABILIZATION

from 300 to 500 HP D 20 in

MODEL
Tractor PTO

(rpm)

Working 
width

(in)

Total width
(in)

Weight
(Ibs)

Working
depth (in) No. teeth /type 

 A/3 + STC/FP
mín máx Max.1 Max.2

STABI/H 225 300 400 1000 91 104 14947 4 20 68 + 8 + 8

STABI/H 250 300 400 1000 100 114 15388 4 20 76 + 8 + 8

STABI/H/HP 225 350 500 1000 91 104 15058 4 20 68 + 8 + 8

STABI/H/HP 250 350 500 1000 100 114 15498 4 20 76 + 8 + 8

F/3/R 44-22 (option)F/3 (option)A/3 (standard) A/3/HD (option) STC/FP (side scraper)

IVT - CVT or creeper transmission required

STANDARD EQUIPMENT

Hydraulic rear hood

Interchangeable inner antiwear plates in Hardox®

Enclosed machine body

Variable displacement chamber

Inside lateral protection

Bolted on protection chains

Poly-Chain® belts transmission

Side gearbox with oil cooling system

Gearbox with freewheel

Gearbox with oil cooling system (STABI/H/HP)

PTO shaft

OPTIONS

Bolted grid on rear hood

Multiple tooth options

Hydraulic top link

Water spray system WSS High Flow 

FCS full control system

Friction clutches

Bolted-on rotor shafts (in forged steel)

Adjustable skids

Dozing blades with spring system



P
R

IC
E

 L
IS

T

131130

Part number Part description Notes  Price $

STABI/H
014000225  STABI/H-225 Soil stabilizer  177,800.00 
014000250  STABI/H-250 Soil stabilizer  181,500.00 

STABI/H/HP
014001225  STABI/H/HP-225 Soil stabilizer  183,800.00 
014001250  STABI/H/HP-250 Soil stabilizer  187,500.00 

Rotor equipped
112800078-O  With tooth type A/3/HD  to be multiplied for rotor teeth quantity  45.77 
112800094-O  With tooth type F/3  to be multiplied for rotor teeth quantity  91.72 
112800096-O  With tooth type F/3/R 44-22  to be multiplied for rotor teeth quantity  32.00 

Options
600000379-O  Hydraulic top link 120 x 60 x 280 cat. 3-4 q.a. ORFS  length 280 mm - 3rd + 4th category  3,156.00 
891000645-O  Yoke for hydraulic cylinder cat.4 - Ø40,5 - sp=60 (surcharge)  40mm diameter - special for Fendt 1000  66.00 
400000161-O  Power cable adaptor F DIN 9680 3 poles - M 206037-2 AMP l=0,2m  adaptor   157.00 
D140002256-O  Grid cpl for STABI/H-225  3,642.00 
D140002257-O  Grid cpl for STABI/H-250  3,902.00 
D140001490-O  Water spray system WSS High Flow for STABI/H  Flow control  16,010.00 
D140001150-O  Water spray system FCS for STABI/H  Automatic control of flow-speed-depth  25,500.00 

Spare Parts
112800075-K  Tooth type A/3  93.00 
112800078-K  Tooth type A/3/HD  136.50 
112800094-K  Tooth type F/3  182.90 
112800097  Tooth adaptor type F/3-22  106.20 
112800076-K  Tooth type R 44-22  15.20 
901216144  Hex socket head cap screw UNI 5932 M16 x 1,5 x 70 12.9 black  8.05 
901216204  Hex socket head cap screw UNI 5932 M16 x 1,5 x 100 12.9 black  7.92 
921616006  Schnorr anti vibration washer Ø16  0.93 
112800066-K  Tooth STC/3/FP  332.40 

901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 

921624006  Schnorr anti vibration washer Ø24  1.96 

112800015-K  Tooth STC/FP 1 screw  320.40 

901224144  Hex socket head cap screw UNI 5932 M24 x 2 x 70 12.9 black  19.53 

921624006  Schnorr anti vibration washer Ø24  1.96 

D140000970  Chain flap section 32 - 9 links l=310  161.00 
900716091  Hex head set screw UNI 5739 M16 x 45 10.9 zn  4.52 
920116001  Flat washer UNI 6592 Ø16 zn  0.61 
920716006  Spring washer UNI 9195 Ø16 zn  0.81 
910616001  Nylock lock nut UNI 7473 M16 10 zn  1.23 
891000134  Brass nozzle Veejet GAS 1/2" 100 l/min  47.78 

891000504  Brass nozzle Veejet GAS 1/2" 200 l/min  47.98 
891000271  Brass nozzle Veejet GAS 1/2" 20 l/min  47.78 
891000327  Brass nozzle Veejet GAS 1/2" 40 l/min  47.98 
891000222  Brass nozzle Veejet GAS 1/2" 60 l/min  47.78 
891000296  Brass nozzle Veejet GAS 1/2" 150 l/min  47.78 

PTO drive shafts for STABI/H
100026043  PTO drive shaft BYPY DSK 1"3/4 Z20 (gearbox 1"3/4 Z20)  standard PTO for UMH/S  5,775.00 
100026046-O  PTO drive shaft BYPY DSK 1"3/4 Z6  - 
100026001-O  PTO drive shaft Walterscheid P700 1"3/4 Z20  - 
100026002-O  PTO drive shaft Walterscheid P700 1"3/4 Z6  - 

PTO drive shafts for STABI/H/HP
100026033  PTO drive shaft BYPY DSK 2"1/4 Z22  standard PTO   -



CONSTRUCTION
HYDRAULIC DRIVEN HEADS

133136



STC/SSL

STONE CRUSHERS FOR SKID STEER LOADERS.

STONE CRUSHERS 
FOR SKID STEER LOADERS

from 80 to 120 HP D 6 in

OPTIONAL

Diverter valve (plug in and play)
STANDARD EQUIPMENT

Hydraulic piston motor 125cc with relief and anticavitation valve
Adjustable hardox counter-blade

Inner hydraulic dozing hood with adjustable cylinder for better 
output material regulation

Penetration skids
Working pressure control gauge
Hydraulic hoses
Hydraulic top link

MODEL

Power HP
(CV)

Requirements
Flow gal/min

Pressure PSI Working 
width

(in)

Total width
(in)

Weight
(Ibs)

Working
depth (in)

Teeth q.ty type
STCL/3 + C/3/SS

min max min max min max

STC/SSL 125 80 120 35 40 3000 5000 53 65 2392 6 24 + 4

STC/SSL 150 90 120 35 40 3000 5000 63 74 3061 6 30 + 4

C/3/SS (side scraper)STCL/3 (standard)



135134

P
R

IC
E

 L
IS

T

Part number Part description Notes  Price $

STC/SSL
012206125  STC/SSL-125 Stone crusher for skid steer  44,810.00 
012206150  STC/SSL-150 Stone crusher for skid steer  45,900.00 

Options

600000416  Roof mounted hydraulic cooler for skid steer  mounting hardware and external plum-
bing not included  5,045.00 

780001081-O  Hydraulic couplers with nipples for 5 hoses (F-A17, M-A17, F-A9, 
F-A13, M-A13) for UML/SSL  664.00 

780001082-O  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, F-A9) 
 for DML/SSL and UML/SSL  552.00 

780001511-O  Hydraulic couplers with nipples for 3 hoses for Case/New Holland 
(F-A15, M-A15, F-A9) for UML/SSL  552.00 

111131000-O  Kit diverter valve 12V  includes electrical cable  718.00 
400000010-O  Connector F Deutsch HD 36-18-14 14PN  195.00 

Spare Parts
112800063-K  Tooth STCL/3  150.60 
112700004-K  Side scraper tooth type C/3/SS right  244.50 
112700005-K  Side scraper tooth type C/3/SS left  244.50 
D121175480  C/3 tooth fixing kit (screw l=120)  composed by screw, schnorr & nut  10.00 
999999137  Screw C/3 M20 x 1,5 x 120 12.9 black  7.61 
921820006  Schnorr anti vibration washer Ø20 HS  4.98 
910220102  High hex nut UNI 5587 M20 x 1,5 10 black  1.36 
780000944  Diverter valve for antishock valve 1" (without coils)  382.00 
400000018  Electric cable M Deutsch 4 poles - 2 x F Deutsch 2 poles l=3,8m  239.00 
400000010  Connector kit F Deutsch HD 36-18-14 14PN  191.00 

780001081  Hydraulic couplers with nipples for 5 hoses (F-A17, M-A17, F-A9, 
F-A13, M-A13) for UML/SSL  651.00 

780001082  Hydraulic couplers with nipples for 3 hoses (F-A17, M-A17, F-A9) 
 for DML/SSL and UML/SSL  541.00 

891000447  Belt Poly-chain 14M-68 carbon volt l=1568  1 belt per unit  862.00


	A1.) Titan_FAE Price Schedule
	Vendor Instructions
	Authorized Distributor List
	Tractor  & Skidsteer Attachment
	Auth Dist List

	A2.) FAE_Price_List_MMD



